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Time : 2 Hours        Max. Marks: 100  
 
 
 

ITO Paper - 1 (Income Tax Law and Computation)  

(Objective Type) (Without Books)  

8th September, 2025 (Shift 1 – 10.30 AM to 12.30 PM) 

 
 
 
 

Important Instructions: All questions carry one mark each. For 
every incorrect attempt 1/8th mark shall be deducted. In case of any 
doubt, the English version may be taken as authentic. Wherever 
Assessment Year is not given, it may be taken as A.Y. 2025-26. In 
case of doubt in respect of the answer, choose the most 
appropriate option for the given question. 
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1.  Which of the following income is agricultural income- 

a) Income from poultry farm 

b) Rent received from agricultural land 

c) Dividend from a company engaged in agriculture. 

d) Income from dairy farm 

 

fuEu esa ls dkSu lh d`f”k&vk; gS\ 

 

a) eqxhZ QkeZ ls izkIRk vk;A 
b) d`f”k Hkwfe ls izkIr fdjk;kA 
c) d`f”k esa ‘kkfey fdlh daiuh ls ykHkka’kA 
d) Ms;jh QkeZ ls izkIRk vk;A 

 

2.  Under Section 12AA of the Income Tax Act, if the trust or institution changes its 

objects, it is required to: 

a) Inform the Commissioner within a year 

b) Seek fresh registration under Section 12AA 

c) Wait for the next assessment year for registration renewal 

d) Continue under the original registration 

vk;dj vf/kfu;e dh /kkjk 12AA ds rgr] ;fn dksbZ VªLV ;k laLFkk 

vius mn~ns’;ksa esa ifjorZu djrh gS rks mls pkfg, fd %& 

 

a) ,d lky ds Hkhrj vk;qDr dks lwfpr djsA 
b) /kkjk 12AA ds rgr u, iathdj.k ds fy;s vkosnu djsA  
c) iathdj.k ds uohuhdj.k ds fy, vxys fu/kkZj.k o”kZ dk bartkj 

djsA 
d) ewy iathdj.k ds rgr gh tkjh j[ksA 

 
3.  Following incomes are treated as incomes deemed to have accrued or arisen in India. 

Which one is NOT correct.  

a) Royalty/fees for technical services received from Government of India. 

b) Salary received by an Indian national from Government of India in respect of 

service rendered outside India. 

c) Income accruing or arising outside India, directly or indirectly through or from 

transfer of capital asset situated outside India.  

d) Interest received from non- resident  if such interest is in respect of funds 

borrowed by the non-resident for carrying on any business/profession in India. 

fuEufyf[kr vk; Hkkjr esa izksnHkwr ;k mn~Hkwr vk; le>h tkrh gSaA 

fuEufyf[kr esa ls dkSu&lk fodYi lgh ugha gSa\ 
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a) Hkkjr ljdkj ls izkIRk jk;YVh@ rduhdh lsokvksa ds fy, ‘kqYd  
b) Hkkjr ljdkj ls] Hkkjr ds ckgj nh xbZ lsokvksa ds fy, 

Hkkjrh; ukxfjd }kjk izkIRk fd;k x;k osruA 
c) Hkkjr ls ckgj vofLFkr iwathxr vkfLr;ksa ds varj.k ds ek/;e 

ls@}kjk izR;{k vFkok vizR;{k :i ls Hkkjr ls ckgj izksnHkwr 

dk mn~Hkwr vk;A 
d) vfuoklh ls izkIr C;kt] ;fn ,slk C;kt vfuoklkh }kjk Hkkjr 

esa dksbZ O;kikj@is’kk djus ds fy, m/kkj fy, x, QaM ls 

lacaf/kr gksA 

 
4.  Ms. Leela, an Indian citizen, visits India for 70 days in FY 2023–24. She was present 

in India for 300 days in the last four previous years. Based solely on Section 6(1) and 

the concept of "previous year" under Section 3, can she be treated as a resident for 

income-tax purposes for AY 2024–25? 

 

a) Yes, because she satisfied both 60-day and 365-day conditions. 

b) No, as she didn’t stay for 182 days in the previous year. 

c) Yes, because she’s an Indian citizen and stayed more than 60 days. 

d) No, because residential status is not governed by the concept of previous year. 

 

,d Hkkjrh; ukxfjd lqJh yhyk foRRkh; o”kZ 2023&24 esa 70 

fnolksa ds fy, Hkkjr vkrh gSaA og fiNys pkj iwoZ o”kksZa eas Hkkjr esa 

300 fnolksa rd mifLFkr FkhaA D;k dsoy /kkjk 6¼1½ vkSj /kkjk 3 

ds rgr ^iwoZ o”kZ* dh vo/kkj.kk ds vk/kkj ij mUgsa fu/kkZj.k o”kZ 

2024&25 ds fy, vk;dj mn~ns’;ksa ls ,d fuoklh le>k tk 

ldrk gS\ 

 

a) gkWa] D;ksafd og 60 fnu vkSj 365 fnu dh ‘krksZa dks iwjk 

djrh gSA 
b) ugha] pwafd og iwoZ o”kZ eaas 182 fnukas rd ugha Bgjh gSaA  
c) gkWa] D;kasfd og Hkkjrh; ukxfjd gSa vkSj 60 fnu ls T;knk 

Bgjh gSaaA 
d) ugha] D;kasfd fuokl fLFkfr ^iwoZ o”kZ* dh vo/kkj.kk ls ‘kkfLr 

ugha gSaA 

 
5.  As per the definition of  dividend given in Section 2(22) of the I.T Act 1961, which 

among the following is not included in the definition of dividend:  

 

a) Distribution of accumulated profits, entailing release of assets by the company 

to its shareholders. 

b) Distribution of debentures/ deposit-certificates to shareholders or bonus shares 

to preference shareholders to an extent to which the company possesses 

accumulated profits. 

c) Distribution made to shareholders of the company on its liquidation out of 
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accumulated profits;  

d) Any payment made by a company on purchase of its own shares from a 

shareholder in accordance with the provisions of section 77A of the Companies 

Act, 1956  

 

vkbZ-Vh-,DV 1961 dh /kkjk 2¼22½ esa nh xbZ ^ykHkka’k* dh ifjHkk”kk 

ds vuqlkj fuEufyf[kr eas ls dkSu ^ykHkka’k* dh ifjHkk”kk esa ‘kkfey 

ugha gS\ 

 

a) lafpr ykHk dk forj.k] ftlds QyLo:i daiuh dh vkfLr;ksa 

dk] mlds ‘ks;j/kkjdksa esa forj.k gksrk gSA 
b) ml ifjlhek] tgka rd daiuh ds ikl lafpr ykHk gS( 

‘ks;j/kkjdksa dks fMcsapj@fu{ksi izek.k&i=ksa vFkok vf/kekuh 

‘ks;j/kkjdksa dks cksul ‘ks;j forfjr djukA 
c) daiuh ds ifjlekiu ij mlds ‘ks;j/kkjdksa dks mlds lafpr 

ykHk ls fd;k x;k forj.kK 
d) daiuh vf/kfu;e] 1956 dh /kkjk 77A ds izko/kkuksa ds rgr 

daiuh }kjk mlds Lo;a ds ‘ks;j/kkjdksa ls ‘ks;jksa dh [kjhn ij 

fd;k x;k Hkqxrku 

 
6.  Consider the case of a Hindu Undivided Family (HUF) where the karta receives rental 

income from ancestral property situated in Nepal. The income is deposited in a 

Nepalese bank and not brought into India. The HUF is resident but not ordinarily 

resident (RNOR). The HUF also earns agricultural income from land situated in Bihar. 

In light of Section 5 and relevant judicial pronouncements, which of the following 

statements correctly states the taxability of the two income streams? 

 

a) Both incomes are not taxable in India due to the RNOR status of the HUF. 

b) Only agricultural income from India is exempt under Section 10(1), but foreign 

income is taxable. 

c) Agricultural income is exempt and the rental income from Nepal is not taxable 

in the hands of RNOR. 

d) Both income streams are taxable in India, as global income of HUF is always 

taxed. 

 

,d fganw vfoHkkftr ifjokj ¼,p-;w-,Q½ ds ekeys ij fopkj dhft,] 

tgkWa drkZ usiky eas fLFkr ,d iSr`d laifÙk ls fdjk;s dh vk; izkIr 

djrk gSA vk; ,d usikyh cSad esa tek gksrh gS vkSj Hkkjr ugha 

ykbZ tkrh gSA ,p ;w ,Q ,d ^fuoklh ijarq lkekU;r;k fuoklh 

ugha* ¼vkj-,u-vks-vkj½ gSA ,p-;w-,Q fcgkj esa fLFkr Hkwfe ls d`f”k 

vk; Hkh izkIRk djrk gSA /kkjk 5 vkSj lqlaxr U;kf;d fu.kZ;ksa ds 

vkyksd esa fuEufyf[kr esa ls dkSu lk dFku nks /kkjkvksa ls vk; dh 

dj ns;rk dks lgh :Ik esa ifjHkkf”kr djrk gS\ 

 

a) ,p-;w-,Q ds vkj-,u-vks-vkj LVsVl ds dkj.k nksuksa vk; Hkkjr 
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esa dj ;ksX; ugha gSaA 
b) dsoy Hkkjr ls d`f”k vk; /kkjk 10¼1½ ds NwV ;ksX; gS] ijarq 

fons’kh vk; dj ;ksX; gSaA 
c) d`f”k vk; NwV ;ksX; gS vkSj usiky ls fdjk;s dh vk; vkj-

,u-vks-vkj ds ikl dj ;ksX; ugha gSA 
d) nksuksa vk; /kkjk,a Hkkjr esa dj ;ksX; gaS] D;ksafd ,p-;w-,Q dh 

oSf’od vk; ges’kk dj ;ksX; gksrh gSA  
 

7.  A trust established in 2020 for religious purposes receives a voluntary donation of ₹1 

crore in FY 2023–24. It claims exemption under Section 11 and maintains separate 

books of accounts for its activities. However, it also received a corpus donation of ₹20 

lakhs without any specific direction from the donor. Which of the following is the 

most appropriate tax treatment for the ₹20 lakhs received? 

 

a) The ₹20 lakhs would be treated as exempt under Section 11 as voluntary 

donation received by a religious trust. 

b) The donation will be treated as income under Section 2(24)(iia), not being 

corpus unless a written direction is present, and hence will be includible in total 

income. 

c) All voluntary donations are exempt under Section 12, hence no tax liability 

arises. 

d) Since religious trusts are fully exempt under Section 13A, the question of 

taxation does not arise. 

 

o”kZ 2020 esa /kkfeZd iz;kstu ds fy, LFkkfir ,d VªLV us foRRkh; 

o”kZ 2023&24 ds nkSjku ,d djksM+ :Ik;s LoSfPNd pank izkIRk fd;kA 

blus /kkjk 11 ds rgr NwV dk nkok fd;k vkSj vius fØ;kdykiksa 

ds fy, ,d i`Fkd ys[kk cgh cuk;hA ijUrq blus nkrk ds fcuk 

fdlh fof’k”V funsZ’k us] 20 yk[k :Ik;s dk pank Hkh izkIRk fd;kA 

izkIr 20 yk[k :Ik;s ds fy;s fuEufyf[kr esa dkSu lh lcls 

mi;qDr dj ns;rk gS\ 

 

a) 20 yk[k :Ik;ksa dks /kkjk 11 ds rgr NwV ;ksX; le>k 

tk,xk] pawfd LoSfPNd pank ,d /kkfeZd VªLV }kjk izkIr gqvk  

gSA 
b) tc rd fd dksbZ fyf[kr funs’k miyC/k u gks] Pakns dks /kkjk 

2(24)(iia) ds rgr ^vk;* le>k tk,xk u fd laxzg vkSj bl 

dkj.k bls dqy vk; esa lfEefyr fd;k tk,xkA 
c) lHkh LoSfPNd pank /kkjk 12 ds rgr NwV ;ksX; gS] blfy, 

dksbZ dj ns;rk mRiUUk ugha gksrhA  
d) pawfd lHkh /kkfeZd VªLV /kkjk 13A ds rgr iw.kZr% NwV izkIRk gSaA 

djk/kku dk iz’u gh ugh a mBrkA 
 

8.  Under Section 10(10D), maturity proceeds from life insurance policies are exempt 

from tax. However, for ULIPs or high-premium policies issued after 1st April 2023, 



Page 6 of 58 
 

which of the following conditions must be satisfied for the exemption to continue? 

 

a) The policy must be issued by LIC or a public insurer only. 

b)  Premium payable in any year must not exceed ₹5 lakhs for any policy 

(aggregate). 

c) The sum assured must be at least 10 times the annual premium. 

d) The policy must be held for a minimum of 5 years to qualify. 

 

/kkjk 10(10D) ds rgr thou chek ikWfylh dh ifjiDork jkf’k dj ls 

NwV ;ksX; gSA ijUrq 1 vizSy 2023 ds ckn tkjh ;wfyi vkSj 

gkbZ&izhfe;e ikWfyfl;ksa dks NwV gsrq tkjh jgus ds fy, fuEufyf[kr 

‘krksaZ esa ls dkSu lh ‘krZ iwjh djuh vko’;d gS\ 

 

a) ikWfylh] ,yvkbZlh vFkok lkoZtfud chekdrkZ }kjk tkjh dh 

xbZ gksA 
b) fdlh ,d o”kZ esa fdlh ikWfylh ¼laiw.kZ½ dk izhfe;e           

:- 5 yk[k ls T;knk ugha gksuk pkfg,A 
c) chek jkf’k okf”kZd izhfe;e ls de ls de 10 xquk gksuh 

pkfg,A 
d) vgZrk ds fy, ikWfylh dks de ls de 5 o”kksZa ds fy, /kkj.k 

djuk pkfg,A 

 
9.  Section 8 declares how dividend income shall be deemed to be income of the 

shareholder. If a company declares a final dividend on 31st March 2024 but pays it on 

10th May 2024, which of the following years shall the shareholder be liable to include 

it in his total income? 

 

a) FY 2024–25 (year of receipt) 

b) FY 2023–24 (year of declaration) 

c) FY 2024–25, as TDS applies on payment 

d) Whichever year the shareholder maintains books for dividend receipt 

 

/kkjk 8 ?kks”k.kk djrh gS fd dSls ykHkka’k vk;] ‘ks;j/kkjd dh ekfur 

vk; gksxhA ;fn ,d daiuh 31 ekpZ] 2024 dks vafre ykHkka’k dh 

?kks”k.kk djrh gS ijarq Hkqxrku 10 ebZ 2024 dks djrh gS rks] 

‘ks;j/kkjd bl vk; dks fuEufyf[kr esa ls fdl o”kZ eas viuh dqy 

vk; esa ‘kkfey djus ds fy, mRRkjnk;h gS\ 

 

a) foRRkh; o”kZ 2024&25 ¼izkfIRk dk o”kZ½ 
b) foRRkh; o”kZ 2023&24 ¼?kks”k.kk dk o”kZ½ 
c) foRRkh; o”kZ 2024&25 pwafd Vh-Mh-,l-] Hkqxrku ij gh ykxw 

gqvkA 
d) ftl fdlh Hkh o”kZ ds fy;s ‘ks;j/kkjd] ykHkka’k izkfIRk ds fy, 

cgh rS;kj dh gksA 
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10.  Section 9 deems certain incomes to accrue or arise in India. If a non-resident renders 

professional legal services to a company located in India but executes the entire 

service from the UK and raises invoices there, what is the taxability of such payment 

under Indian law? 

 

a) Fully taxable in India as the payer is Indian and Section 9 applies 

b) Not taxable as the income arises outside India and is received outside 

c) Taxable only if the non-resident has a PE (Permanent Establishment) in India 

d) Not taxable if the invoice is raised in a foreign currency and remitted abroad 

 

/kkjk 9] dqN fuf’pr vk; dks Hkkjr esa izksn~Hkwr ;k mn~Hkwr ekfur 

djrh gSA ;fn ,d vfuoklh Hkkjr esa fLFkr ,d daiuh dks is’ksoj 

fof/kd lsok,a nsrk gS] iajrq lHkh lsok,a ;wds ls fu”ikfnr djrk gS 

vkSj chtd ogka izLrqr djrk gks rks Hkkjrh; fof/k ds rgr ,sls 

Hkqxrku dh dj ns;rk D;k gksxh\ 

 

a) iw.kZr% Hkkjr esa dj ns;] pwafd HkqxrkudrkZ Hkkjrh; gS vkSj 

/kkjk 9 izHkkoh gSA 
b) dj ;ksX; ugha] pwafd vk; Hkkjr ls ckgj mn~Hkwr vkSj izkIr 

gqbZA 
c) dsoy rHkh dj ns; ;fn vfuoklh dh Hkkjr esa ,d ih-bZ  

¼LFkk;h LFkkiu½ gksA 
d) dj ;ksX; ugha] ;fn chtd fons’kh eqnzk esa izLrqr fd;k x;k 

vkSj fons’k esa izsf”kr fd;k x;kA 
 

11.  Ms. Ritu, a central government employee, receives House Rent Allowance (HRA) of 

₹18,000 per month in Delhi. Her basic salary is ₹70,000 per month, and she pays 

₹20,000 monthly rent for her accommodation. What amount shall be exempt under 

Section 10(13A) for FY 2023–24? 

 

a) ₹1,80,000 

b) ₹1,20,000 

c) ₹1,44,000 

d) ₹2,16,000 

(Assume she stays in rented accommodation for the full year and meets all conditions) 

 

fel fjrq] ,d dsanz ljdkj dh deZpkjh] fnYYkh esa izfrekg      

:- 18]000@& edku fdjk;k HkRRkk (HRA) izkIr djrh gSaA mudk 

ewy osru :- 70]000@& izfrekg gS vkSj og vius vkokl ds fy, 

:- 20]000@& eghuk vnk djrh gSaA foRr o”kZ 2023&24 ds fy, 

/kkjk 10(13A) ds rgr fdruh jkf’k dh NwV feysxhA 

 

a) :- 1]80]000@& 
b) :- 1]20]000@& 
c) :- 1]44]000@& 



Page 8 of 58 
 

d) :- 2]16]000@&  
¼;g ekuk tk, fd og iwjs o”kZ fdjk;s ds vkokl esa jgrh gS vkSj 

lHkh ‘krksZa dks iwjk djrh gSA½ 

 

12.  A charitable trust registered under Section 12AB invests ₹50 lakhs in shares of a 

private company in which the managing trustee and his relatives hold 60% of voting 

power. Which of the following best explains the consequence under Section 13? 

 

a) Only the income from the investment will be taxed; rest remains exempt. 

b) Entire exemption under Section 11 will be forfeited for that year. 

c) The trust can continue to claim exemption by disclosing the interest properly. 

d) None of the above. 

 

,d /kekZFkZ VªLV tks /kkjk 12AB ds rgr iathd`r gS] ,d izkbosV 

daiuh ds ‘ks;jksa esa 50 yk[k :Ik;s dk fuos’k djrh gS ftlesa izca/k 

VªLVh vkSj mlds laca/kh daiuh dh 60% oksfVax ikoj j[krs gSaA /kkjk 

13 ds rgr fuEufyf[kr esa ls dkSu&lk fodYi ifj.kke dh lcls 

vPNh O;k[;k djrk gS\ 

 

a) dsoy fuos’k ls izkIRk vk; ij dj yxsxk] ckdh NwV izkIr 

jgsxkA 
b) ml o”kZ ds fy, /kkjk 11 ds rgr iwjh NwV leiâr gks 

tk,xhA 
c) leqfpr :i ls C;kt fn[kkdj] VªLV NwV dk nkok djrh jg  

ldrh gSA  
d) mi;qZDr esa ls dksbZ ughaA 
 

13.  Mr. Dey earns ₹4 lakhs from wheat cultivation on land situated in a rural part of Bihar 

and ₹2 lakhs by processing the produce in a facility located on the farm, without 

adding any external ingredients. As per Section 10(1), how much of this income would 

be exempt? 

 

a) ₹4 lakhs only, as processing is not part of agricultural income 

b) ₹5 lakhs only, as 50% of processing income is deemed agricultural 

c) ₹6 lakhs, because processing done without external ingredients on farm is still 

agricultural income 

d) None of the above  

 

Jh Ms fcgkj ds nsgkrh Hkkx esa fLFkr Hkwfe ij xsgWaw dh [ksrh ls 4 

yk[k :Ik;s dekrs gaS vkSj QkWeZ ij fLFkr ,d lqfo/kk ls mRikn ds 

izlaLdj.k ls] fcuk fdlh cká lkexzh dks Mkydj] 2 yk[k :Ik;s 

dekrs gSaA /kkjk 10(1) ds rgr] mudh fdruh vk; ij NwV izkIr 

gksxh\ 

 

a) dsoy 4 yk[k :Ik;s] D;ksafd izlaLdj.k d`f”k ls izkIRk vk; dk 
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fgLLkk ugha gSA 
b) dsoy 5 yk[k :Ik;s] D;ksafd izlaLdj.k vk; dk 50% d`f”k ls 

laacaf/kr ekuk tk,xkA 
c) 6 yk[k :Ik;s] D;kasfd QkWeZ ij fcuk cká lkexzh ds fd;k 

x;k izaLkLdj.k Hkh d`f”k ls izkIRk vk; gSA  
d) mijksDr esa ls dksbZ ugha  

 

14.  Which deduction is not allowable while computing income under the head ‘income 

from house property’.  

 

a) Interest paid on borrowed capital 

b) 1/3rd of annual value of the property 

c) Annual Insurance premium for the property 

d) All the above 

 

^x`g laifRr ls izkIr vk;* en ds rgr vk; dh x.kuk ds nkSjku 

dkSu&lh NwV Lohdk;Z ugha gS\ 

 

a) m/kkj iwath ij fn, x, C;kt ijA 
b) izkWiVhZ ds okf”kZd ewY; ds ,d frgkbZ ijA 
c) izkWiVhZ ds okf”kZd chek izhfe;e ijA 
d) mi;qZDr lHkhA 

 

15.  Unrealized rent realized subsequently shall be taxed in which Year ? 

 

a) The financial year in which rent is receivable 

b) The financial year in which rent is realized 

c) The assessment year in which it is reflected as income by the assessee 

d) None of the above 

 

vizkI; fdjk;k ckn esa izkIr gksus ij] fdl o”kZ esa djk/ks; gksxk\ 

 

a) ml foRRkh; o”kZ esa ftlesa fdjk;k izkI; gSA 
b) ml foRRkh; o”kZ esa ftlesa fdjk;k izkIr fd;k x;k gSA 
c) ml foÙk o”kZ esa] ftlesa fu/kkZfjrh }kjk vk; ds :Ik esa 

fn[kk;k x;k gSA  
d) mi;qZDr esa ls dksbZ ughaA 
 

16.  Which of the following income is chargeable as profits and gains of business or 

profession? 

 

a) Duty drawback  

b) Bonus received by partner from the firm 

c) Profit on sale of license  

d) All the above 
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fuEufyf[kr esa ls dkSu lh vk;] ^dkjckj ;k o`fr ds ykHk ;k 

vfHkykHk* ds :Ik esa dj ;ksX; gS\ 

 

a) M~;wVh ‘kqYd okilhA 
b) fgLLksnkjh }kjk QeZ ls izkIRk fd;k gqvk cksul  
c) ykblsal dh fcØh ls izkIr ykHkA 
d) mi;qZDr lHkh 

 
17.  In the course of negotiations for transfer of a capital asset, the assessee received 

advance money during FY 2022-23 which was later on forfeited by the assessee due to 

certain reasons in FY 2023-24. In view of the provisions of section 51 of the Income 

Tax Act, which of the following is correct:  

 

a) The advance money forfeited is taxable in the hands of recipient under section 

56(2)(ix) as Income from other sources in the AY 2024-25 

b) The advance money forfeited is taxable in the hands of recipient as short term 

capital gain in the AY 2024-25 

c) The advance money forfeited is taxable in the hands of recipient under section 

56(2)(ix) as Income from other sources in the AY 2023-24 

d) The advance money forfeited is taxable in the hands of recipient as short term 

capital gain in the AY 2023-24 

 

,d iwathxr ifjlaifŸk ds gLrkarj.k gsrq ckrphr ds nkSjku] djnkrk 

dks foŸk o”kZ 2022&23 ds nkSjku vfxze jkf’k izkIr gqbZ] ftls ckn 

esa foŸk o”kZ 2023&24 esa dqN dkj.kksa ls djnkrk }kjk tCr dj 

fy;k x;kA vk;dj vf/kfu;e dh /kkjk 51 ds izko/kkuksa ds 

en~nsutj] fuEufyf[kr esa ls dkSu lk dFku lgh gS% 

 

a) tCr dh xbZ vfxze jkf’k] fu/kkZj.k o”kZ 2024&25 esa vU; 

lzksrksa ls vk; ds :Ik esa /kkjk 56(2)(ix)  ds varxZr izkIrdrkZ ds 

gkFkksa esa dj ;ksX; gSA 
b) tCr dh xbZ vfxzze jkf’k] fu/kkZj.k o”kZ 2024&25 esa 

vYidkfyd iwathxr ykHk ds :Ik esa izkIrdrkZ ds gkFkksa esa dj 

;ksX; gksxhA 
c) tCr dh xbZ vfxze jkf’k] fu/kkZj.k o”kZ 2023&24 esa vU; 

lzksrksa ls vk; ds :Ik esa /kkjk 56(2)(ix) ds varxZr izkIrdrkZ ds 

gkFkksa esa dj ;ksX; gSA  
d) tCr dh xbZ vfxze jkf’k] fu/kkZj.k o”kZ 2023&24 esa 

vYidkfyd iwathxr ykHk ds :Ik esa izkIrdrkZ ds gkFkksa eas dj 

;ksX; gksxhA 
 

18.  The quantum of deduction available u/s 35 of the Income-tax Act regarding 

expenditure on scientific research is: 

 



Page 11 of 58 
 

a) 100% of expenditure on scientific research 

b) 125% of expenditure on scientific research 

c) 150% of expenditure on scientific research 

d) 175% of expenditure on scientific research 

 

oSKkfud vuqla/kku ij [kpZ ds lanHkZ esa] vk;dj vf/kfu;e dh /kkjk 

35 ds rgr miyC/k dVkSrh dh ek=k gS% 

 

a) oSKkfud vuqla/kku ij [kpZ dk 100% 
b) oSKkfud vuqla/kku ij [kpZ dk 125% 
c) oSKkfud vuqla/kku ij [kpZ dk 150% 

d) oSKkfud vuqla/kku ij [kpZ dk 175% 

 

19.  As per the provisions of Section 54GB, deduction from capital gain on transfer of 

residential property is allowable if net consideration is utilised for subscription in the 

equity shares of an eligible company. For the purpose of this section which of the 

following condition is NOT correct to qualify as “eligible company”: 

  

a) It is a company incorporated in India during the period from the first day of 

April of the previous year relevant to assessment year in which the capital gain 

arises to the due date of furnishing of return of income under sub-section (1) of 

section 139 by the assessee 

b) It is engaged in the business of manufacture of an article or a thing or in an 

eligible business  

c) It is a company in which the assessee has more than 40% share capital or more 

than 40% voting rights after the subscription in shares by the assessee  

d) It is a company which qualifies to be small or medium enterprise under the 

Micro, Small and medium Enterprise Act, 2006 (27 of 2006) or is an eligible 

start-up. 

 

 /kkjk 54GB ds izko/kkuksa ds vuqlkj] vkoklh; laifŸk ds gLrkarj.k 

ij iwathxr ykHk ls dVkSrh rHkh Lohdk;Z gS tc ‘kq) izfrQy dk 

mi;ksx fdlh ik= daiuh ds bfDoVh ‘ks;jksa esa vfHknku ds fy, fd;k 

tkrk gSA bl /kkjk ds Ikz;kstu ds fy,] ^^ik= daiuh** ds :Ik esa 

vgZrk izkIr djus ds fy, fuEufyf[kr esa ls dkSu lh ‘krZ lgh ugha 

gS% 

 

a) ;g Hkkjr esa fuxfer ,d daiuh gS tks ml dj fu/kkZj.k o”kZ 

ls lacaf/kr fiNys o”kZ ds vizSy ds igys fnu ls ysdj djnkrk 

}kjk /kkjk 139 dh mi/kkjk ¼1½ ds rgr vk;dj fjVuZ izLrqr 

djus dh fu;r rkjh[k rd dh vof/k ds nkSjku fuxfer dh 

xbZ gS ftlesa iwathxr ykHk mRiUUk gksrk gSA  
b) ;g fdlh oLrq ;k pht ds fofuekZ.k ds O;olk; esa ;k fdlh 

;ksX; O;olk; esa yxk gqvk gSA  
c) ;g ,d ,slh daiuh gS ftlesa djnkrk ds ikl 40% ls vf/kd 
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‘ks;j iwath ;k djnkrk }kjk ‘ks;jksa esa vfHknku ds ckn 40% ls 

vf/kd ernku vf/kdkj gksrsa gSaA  
d) ;g ,d ,slh daiuh gS tks lw{e] y?kq vkSj e/;e m|e 

vf/kfu;e] 2006 ¼2006 dk 27½ ds rgr y?kq ;k e/;e 

m|e gksus dh ;ksX;rk j[krh gS ;k ,d ;ksX; LVkVZ&vi gSA  
 

20.  Certain deductions are allowable only when these are actually paid as per provisions 

contained in Sec. 43B of the Income-tax Act. Which of the following deductions is not 

covered under this provision? 

 

a) Any sum payable by way of tax, duty, cess or fee  

b) Contribution payable to any provident fund or superannuation fund 

c) Interest payable on loan borrowed from a cooperative bank 

d) Any sum payable to a public sector undertaking   

 

vk;dj vf/kfu;e dh /kkjk 43B esa fn, x, izko/kkuksa ds vuqlkj dqN 
dVkSrh dsoy RkHkh Lohdk;Z gS ;fn os okLro esa vnk dh xbZ gSA 

fuEufyf[kr esa ls dkSu lh dVkSfr;ka bl izko/kku ds rgr ugha 

vkrh gSa\ 

 

a) dj] M;wVh] midj ;k Qhl ds :Ik esa Hkqxrku ;ksX; jkf’kA 
b) fdlh izksfoMsaV QaM ;k vf/kof”kZrk QaM ds fy, va’knku dk 

HkqxrkuA 
c) ,d lgdkjh cSad ls fy, x, _.k] ds C;kt dk HkqxrkuA 
d) ,d lkoZtfud {ks= ds miØe dks Hkqxrku djus ;ksX; jkf’kA 
 

21.  Which of the following is NOT correct for the slump sale as per the provisions of 

section 50B: 

 

a) ‘Net worth’ shall be the aggregate value of total assets of the undertaking or 

division as reduced by the value of liabilities of such undertaking or division as 

appearing in its books of account  

b) Any change in the value of assets on account of revaluation of assets shall be 

considered for the purpose of computing the net worth  

c) For computing the net worth, the aggregate value of capital asset being 

goodwill of a business or profession, which has not been acquired by the 

assessee by purchase from a previous owner, shall be nil 

d) For computing the net worth, the aggregate value of capital asset in respect of 

which the whole of the expenditure has been allowed or is allowable as a 

deduction under section 35AD, shall be nil 

 

/kkjk 50B ds izko/kkuksa ds vuqlkj LyEi lsy ds fy, fuEufyf[kr esa 

ls dkSu lk dFku lgh ugha gS\  

 

a) ^fuoy ewY;* miØe ;k izHkkx dh dqy ifjlaifŸk;ksa dk lexz 
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ewY; gksxk] tks ,sls miØe ;k izHkkx dh nsunkfj;ksa ds ewY; 

ls de gksxk] tSlk fd mlds [kkrs dh iqLrdksa esa fn[kkbZ nsrk 

gSA 
b) ifjlaifŸk;ksa ds iquewZY;kadu ds dkj.k ifjlaifŸk;ksa ds ewY; esa 

fdlh Hkh ifjorZu dks fuoy ewY; dh x.kuk ds iz;kstu ds 

fy, fopkj fd;k tk,xkA 
c) fuoy ewY; dh x.kuk ds fy,] iwathxr ifjlaifŸk dk dqy 

ewY;] tks fdlh O;olk; ;k is’ks dh ln~Hkkouk gS] ftls 

djnkrk }kjk fdlh fiNys ekfyd ls [kjhn dj vftZr ugha 

fd;k x;k gS] ‘kwU; gksxkA 
d) fuoy ewY; dh x.kuk ds fy,] iwathxr ifjlaifŸk dk dqy 

ewY; ftlds laca/k eas laiw.kZ O;; dh vuqefr nh xbZ gS ;k 

/kkjk 35AD ds rgr dVkSrh ds :Ik esa Lohdk;Z gS] ‘kwU; gksxkA  
  

22.  Maintenance of accounts by certain class of person or business is mandatory as per 

Sec. 44AA of the Income-tax Act. Which business or profession is not covered under 

this provision? 

 

a) Legal, medical, engineering or architectural profession  

b) Interior decoration  

c) Auction of paintings 

d) Accountancy and technical consultancy 

 

vk;dj vf/kfu;e dh /kkjk 44AA ds rgr fdUgh Js.kh ds O;fDr;ksa 
rFkk O;olk;ksa }kjk cgh&[kkrkas dk j[k&j[kko vfuok;Z gSA bl 

izko/kku ds rgr dkSu ls dkjksckj ;k of̀Rr;ka blesa ‘kkfey ugha gSa\ 

 

a) fof/kd] fpfdRlh;] bathfu;jh ;k okLrq f’kYih; dkjckjA 
b) var% lTTkkA 
c) fp=ksa dh fuykehA 
d) ys[kkdj.k ,oa rduhdh ijke’kZ dk;ZA 
 

23.  Which of the following statements is/are  Correct with respect to Exemption u/s 54 of 

the I.T Act: 

(i) Exemption under section 54 can be claimed only in respect of one 

residential house property purchased/constructed in India.  

(ii) No exemption can be claimed in respect of house purchased outside India. 

(iii) With effect from Assessment Year 2021-22, a taxpayer has an option to 

make investment in two residential house properties in India.  

(iv) This option can be exercised by the taxpayer only once in his lifetime 

provided the amount of long-term capital gain does not exceed Rs. 2 crores. 

Choose the correct option:- 

a) Only (i) and (ii)  

b) Only (i) and (iii)  

c) Only (i), (iii) and (iv) 
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d) All (i), (ii), (iii) and (iv) 

 

vk;dj vf/kfu;e dh /kkjk 54 ds varxZr NwV ds laca/k esa fuEu esa 

ls dkSu ls dFku lgh gSa\ 

(i) /kkjk 54 ds rgr dsoy ,d gh vkoklh; x`g laifRr dh 

[kjhn@fuekZ.k ds laca/k esa NwV izkIr dh tk ldrh gS  
(ii) Hkkjr ls ckgj x`g laifRr [kjhnus ij NwV dk nkok ugha 

fd;k tk ldrkA  
(iii) fu/kkZj.k o”kZ 2021&22 ls] dj nkrk ds ikl ,d fodYi 

gS fd og Hkkjr esa nks fuoklh; x`g laifÙk esa fuos’k dj 

ldrk gSA 
(iv) bl fodYi dk mi;ksx djnkrk }kjk mlds thoudky esa  

dsoy ,d ckj gh fd;k tk ldrk gS c’krsZ nh?kZdkfyd iwaWth 

vfHkykHk dh jkf’k 2 djksM+ :- ls vf/kd uk gksA 
lgh fodYi pqusa%& 

a) dsoy (i) vkSj (ii) 

b) dsoy (i) vkSj (iii) 

c) dsoy (i), (iii) vkSj (iv) 

d) lHkh (i), (ii),  (iii) vkSj (iv) 

24.  Exemption under section 54D is allowed only if the assessee purchases ________ for 

the purposes of shifting or re-establishing the undertaking or setting up another 

industrial undertaking. Fill in the blanks the appropriate answer. 

 

a) Other land or building 

b) Right in any other land or building 

c) Constructs any other building 

d) All of the above 

 

/kkjk 54D ds rgr NwV flQZ rHkh vuqer gS fd tc fu/kkZfjrh miØe 

dk LFkku ifjorZu djus gsrq ;k iqu% LFkkfir djus gsrq ;k vU; 

vkSn~;ksfxd miØe dh LFkkiuk djus gsrq --------- [kjhnrk gSA [kkyh 

LFkku esa lgh mŸkj HkjsA 

 

a) nwljh tehu ;k fcfYMax 
b) fdlh nwljh tehu ;k fcfYaMx esa vf/kdkj 
c) fdlh nwljs Hkou dk fuekZ.k  
d) mijksDr lHkh 

 

25.  Ms. Rakhi is a salaried employee. In the month of May, 2023 she purchased un-listed 

shares of XYZ Ltd. and sold the same in January, 2025. In this case shares are: 

 

a) Long term capital assets 

b) Short term capital assets 

c) Personal assets 
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d) No assets since the shares are unlisted 

 

LkqJh jk[kh osruHkksxh deZpkjh gaSA ebZ 2023 ekg esa mlus XYZ 
fyfeVsM ds vlwphc) ‘ks;j [kjhns vkSj mUgsa tuojh 2025 esa csp 

fn;kA ,slh fLFkfr esa ‘ks;j gksxsa% 

a) nh?kZdkfyd iwWath ifjlaifÙkA 
b) y?kqdkfyd iwWath ifjlaifÙkA 
c) O;fDrxr ifjlaifÙkA 
d) tSlk dh ‘ks;j vlwphc) gS blfy, dksbZ ifjlaifÙk ughaA 

 

26.  Which of the following is/are correct – 

(i) The Finance (No. 2) Act, 2024 removed the indexation benefit and introduced 

a uniform tax rate of 12.5% on long-term capital gains.  

(ii)  As per the amendment, no indexation benefit is allowed while computing 

capital gain from long-term capital assets transferred on or after 23-07-2024.  

(iii)The Government has introduced a grandfathering provision in 2024. This 

provision allows resident individuals and resident HUFs to still apply 

indexation on land or building acquired before 23-07-2024 and pay tax at the 

old rate of 20% if the tax under the new law (i.e., tax calculated at 12.5% 

without indexation benefit) results in a higher amount. 

(iv) Indexation is a process by which the cost of acquisition is adjusted against 

inflationary rise in the value of asset. 

Choose the correct option:- 

 

a) (i) and (iv)  

b) (i), (ii) and (iii)  

c) (iii) and (iv)  

d) (i), (ii), (iii) and (iv)  

 

fuEu esa ls dkSu lk@ls lgh gS@gSa& 

(i) foRRk vf/kfu;e ¼la- 2½ 2024 us nh?kZdkfyd iwWath 

vfHkykHk ls vuqØe.k ykHk gVk fn;k rFkk 12.5% dh nj ls 

leku dj dk izko/kku ykxw dj fn;kA  
(ii) la’kks/ku ds vuqlkj] fnukad 23-07-2024 dks ;k mlds 

ckn varfjr dh xbZ nh?kZdkfyd iwWath ifjlaifÙk ds iwathxr 

ykHk ds ifjdyu esa dksbZ vuqØe.k ykHk& vuqeÙk ugha gSA 
(iii) o”kZ 2024 ls ljdkj us firkegh izko/kku ykxw fd;k gSA 

fnukad 23-07-2024 ls iwoZ [kjhnh xbZ tehu ;k Hkou ds 

fy, ;g izko/kku] fuoklh O;f”V;ksa rFkk fuoklh ,p-;w-,Q- 

dks vuqØe.k ds vkosnu gsrq vuqeÙk djrk gS c’krsZ og 

20% dh iqjkuh nj ij dj pqdk,] ;fn u;k dj ¼vFkkZr 

vuqØe.k ykHk ds fcuk 12.5% dk dj½ jkf’k esa vf/kd gksA 
(iv) vuqØe.k ,d ,slh izfØ;k gS ftlds }kjk vf/kxzg.k  ykxr 

dks ifjlaifÙk ds ewY; esa LQhfrdkjd c<ksrjh ds fy, 

lek;ksftr fd;k tkrk gSA 
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lgh fodYi pqusa%& 

a) (i) vkSj (iv) 
b) (i), (ii) rFkk (iii) 

c) (iii) vkSj (iv) 

d) (i), (ii), (iii) rFkk (iv) 

 

27.  If an individual or HUF enters into a joint development agreement (JDA) with a 

builder or joint developer, it shall be deemed that the capital asset is transferred during 

the year in which the ___________.  

 

a) Certificate of occupancy of the project is issued by the competent authority  

b) Certificate of completion for the whole or part of the project is issued by the 

competent authority  

c) Possession of the asset is transferred to the buyer  

d) Sale deed is executed in favour of the buyer 

 

;fn dksbZ O;f”V ;k ,p-;w-,Q fdlh fcYMj ;k la;qDr fodkldrkZ ds 

lkFk la;qDr fodkl le>kSrk esa ‘kkfey gksrs gS rks ;g ekuk  

tk,xk fd iwWathxr vkfLr ml o”kZ ds nkSjku varfjr gqbZ gS] ftl 

o”kZ----------------  

 

a) l{ke izkf/kdkjh }kjk ifj;kstuk ds vfHkxzg.k dk izek.k&i= 

tkjh fd;k x;k gksA 
b) l{ke izkf/kdkjh }kjk ifj;kstuk ds laiw.kZ ;k va’kr% rS;kj gksus 

dk izek.ki= tkjh fd;k x;k gksA 
c) vkfLr dk dCtk dszrk dks varfjr fd;k x;k gksA 
d) Øsrk ds i{k esa fodz; foys[k fu”ikfnr gks x;k gks 

 
28.  To avail the benefit of section 54B, the assets transferred should be           . 

 

a) A residential house property   

b) A non-agricultural land  

c) An agricultural land  

d) Bonds of National Highways Authority of India 

 

/kkjk 54B ds ykHk ysus ds fy,] varfjr vkfLr--------gksuh pkfg,A 
 

a) fuoklh; x`g laifÙkA 
b) xSj&d`”kh; tehuA 
c) d`f”k HkwfeA 
d) Hkkjrh; jk”Vªh; jktekxZ izkf/kdj.k dk ca/ki=  

 

29.  An individual or Hindu Undivided Family (HUF) can claim an exemption in respect of 

capital gain arising on transfer by way of compulsory acquisition of agricultural land 

situated in an urban area if the land was ___________ immediately preceding the date 
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of its transfer. 

  

a) Used for any purpose for a period of 2 years  

b) Used for agricultural purpose for a period of 2 years  

c) Acquired and used for 5 years  

d) None of the above 

 

,d O;f”V vFkok fgUnw vfoHkDr dqVqEc ¼,p ;w ,Q½ fdlh uxj {ks= 

esa fLFkr d`f”k Hkwfe ds vfuok;Zr% vf/kxzg.k ds ek/;e ls varj.k ij 

tfur iwathxr ykHk ij NwV dk nkok dj ldrs gSa] ;fn bl varj.k 

dh frfFk ls Bhd igys] ;g Hkwfe----------------- 

 

a) nks o”kksZa dh vof/k ds fy,] fdlh Hkh iz;kstu ds fy;s iz;ksx 

dh xbZ gksA 
b) nks o”kksZa dh vof/k ds fy;s] d`f”k iz;kstuksa ds fy;s iz;ksx dh 

xbZ gksA 
c) vf/kx`ghr rFkk 5 o”kksZa ds fy;s iz;ksx dh xbZ gksA 
d) mi;qZDr esa ls dksbZ ughaA 

 
30.  If securities allotted under Employee Stock Option Plan (ESOP) scheme, are 

subsequently transferred by the employee, the gains arising therefrom shall be 

________.  

 

a) Taxable under the head Salaries  

b) Taxable under the head Capital Gains  

c) Taxable under the head Other Sources  

d) Not Taxable 

 

;fn deZpkjh LVkWd fodYi ;kstuk (ESOP) ds varxZr vkcafVr 

izfrHkwfr;kWa ckn esa deZpkjh }kjk varfjr dj nh tkrh gSa] rks mlls 

tks ykHk izkIRk gksxk og --------- 

 

a) osru ‘kh”kZ ds varxZr dj ;ksX; gSA 
b) iwWathxr ykHk ‘kh”kZ ds varxZr dj ;ksX; gSA 
c) ^vU; lzksr* ‘kh”kZ ds varxZr dj ;ksX; gSA 
d) dj ;ksX; ugha gSA 
 

31.  Under Section 69B, if the Assessing Officer determines that an asset has been acquired 

at a price higher than what is declared, what is the tax implication? 

 

a) The excess amount is treated as a capital gain. 

b) The difference is treated as unexplained expenditure and taxed at normal slab 

rates. 

c) The difference is treated as deemed income and taxed under Section 115BBE. 

d) No addition can be made if the assessee disputes the valuation. 
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/kkjk 69B ds varxZr] ;fn ewY;kadu vf/kdkjh ;g fu/kkZfjr djrk gS 

fd dksbZ ifjlaifŸk ?kksf”kr ewY; ls vf/kd ewY; ij vftZr dh xbZ 

gS] rks dj fufgrkFkZ D;k gS\  

 

a) vfrfjDr jkf’k dks iwathxr ykHk ekuk tkrk gSA  
b) bl varj dks vLi”Vhd`r O;; ekuk tkrk gS rFkk bl ij 

lkekU; LySc njksa ij dj yxk;k tkrk gSA  
c) bl varj dks vk; ekuk tkrk gS rFkk /kkjk 115BBE ds rgr 

bl ij dj yxk;k tkrk gSA  
d) ;fn djnkrk ewY;kadu ij fookn djrk gS rks dksbZ o`f) ugha 

dh tk ldrhA 
 

32.  Which uniquely Indian business practice is referred to in section 69D 

a) Hawala 

b) Hundi 

c) Jugaad 

d) Bahi-khata  

/kkjk 69D esa fdl vuks[kh Hkkjrh; O;olkf;d i)fr dks fufnZ”V 

fd;k x;k gS\ 

a) gokyk 
b) gqaMh 
c) tqxkM+ 
d) cgh [kkrk 
 

33.  Which of the following is not true about  68,69,69A,69B,69C or 69D  

a) Income under these sections cannot be set off against loss 

b) Income Tax is leviable at 60% on income referred to in sections 68, 69, 69A to 

69D . 

c) With respect to additions under sections 68, 69, 69A to 69D,penalty of 10 per 

cent on tax payable under section 115BBE is imposable  

d) Income under these section forms part of Income from Other Sources  

 

fuEufyf[kr esa ls dkSu lk fodYi /kkjk 68] 69] 69A] 69B, 
69C  ;k 69D ds ckjs esa lgh ugha gS\ 

 

a) bu /kkjkvksa ds v/khu gqbZ vk; dks gkfu ds izfr lek;ksftr 

ugha dh tk ldrkA 
b) /kkjkvksa 68] 69] 69A] ls 69D esa fufnZ”V vk; ij 60% dh 

nj ls vk;dj ns; gksxkA 
c) /kkjkvksa 68] 69] 69A] ls 69D ds v/khu ifjo/kZu ds laca/k 

esa] /kkjk 115BBE ds v/khu ns; vk;dj ij 10 izfr’kr dh 

‘kkfLr vf/kjksI; gSA 
d) bu /kkjkvksa ds v/khu vk;] vU; lzksrksa ls vk; dk Hkkx ekuh 

tkrh gSaA 
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34.  Compute the gross total income of Mr. X applying the rules of set off of loss. In AY 

2022-23, Mr. X has the following income and losses: (1) Long term capital gain from 

the sale of immovable property: Rs.10,00,000 (2) Short term capital loss from sale of 

shares Rs.5,00,000 (3) Loss in proprietary business: Rs.1,00,000  

a) Gross total income of Rs. 4,00,000 

b) Gross total income of Rs. 9,00,000 and carry forward Short Term Capital Loss 

of Rs.5,00,000 

c) Gross total income of Rs. 5,00,000 and carried forward business loss of 

Rs.1,00,000 

d) Gross total income of Rs.10,00,000 and carried forward loss of Rs. 6,00,000 

gkfu ds lek;kstu ds fu;eksa ds vk/kkj ij] Jh X dh ldy dqy 

vk; dh x.kuk dhft,A fu/kkZj.k o”kZ 2022&23 esa Jh X dh 

fuEufyf[kr vk; rFkk gkfu;kWa gS% ¼1½ vpy laifÙk dh fcØh ls 

nh?kZdkfyd iWawthxr ykHk% :- 10]00]000@& ¼2½ ‘ks;jksa dh fcØh ls 

vYidkfyd iWawth gkfu& :- 5]00]000@& ¼3½ lkaifÙkd O;olk; esa 

gkfu% :- 1]00]000@& 

 

a) :- 4]00]000@& dh ldy dqy vk;A 
b) :- 9]00]000@& dh ldy dqy vk; rFkk :- 5]00]000@& 

dh vxzuhr vYidkfyd iwWath gkfuA 
c) :- 5]00]000@& dh ldy dqy vk; rFkk :- 1]00]000@& 

dh vxzuhr O;olk; gkfuA 
d) :- 10]00]000@& dh ldy dqy vk; rFkk            

:- 6]00]000@& dh vxzuhr gkfuA 
 

35.  Section 80CCE limits the aggregate amount of deductions under certain sections to 

Rs.1,50,000. These sections are 

a) 80C, 80CCC and 80CCD 

b) 80C, 80CCD and 80D 

c) 80C, 80D and 80DD 

d) 80D, 80CCD and 80G 

/kkjk 80CCE dqN /kkjkvksa ds v/khu dVkSfr;ksa dh dqy jkf’k dks     

:- 1]50]000@& rd lhfer djrh gSA ;s /kkjk,Wa gSa % 

a) 80C, 80CCC rFkk 80CCD 
b) 80C, 80CCD rFkk 80D 
c) 80C, 80D rFkk 80DD 
d) 80D, 80CCD rFkk 80G 
 

36.  Under section 80-GGA of the Income Tax Act, the deduction is allowable on payment 

of sum to any association or institution having object of undertaking which of the 

following kinds of programmes? 
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1) Rural Development. 

2) Development of Infrastructure. 

3) Conservation of natural resources. 

4) Afforestation. 

In respect of the above, which of the following options are correct? 

 

a) Options 1, 2 and 3 are correct. 

b) Options 1, 3 and 4 are correct. 

c) Options 1, 2 and 4 are correct. 

d) Options 2, 3 and 4 are correct. 

 

vk;dj vf/kfu;e dh /kkjk 80-GGA ds v/khu ,sls fdlh laxe ;k 

laLFkk dks lanÙk dksbZ Hkqxrku dVkSrh ds fy, vuqefr ;ksX; gksxk] 

ftldk mn~ns’; fuEufyf[kr esa ls fdl izdkj ds dk;ZØe dks 

pykuk gS\ 

(1) xzkeh.k fodkl 
(2) vk/kkfjd lajpuk dk fodkl 
(3) izkd`frd lalk/kuksa dk laj{k.k  
(4) ou&jksi.kA 

mijksDr ds laca/k esa] fuEufyf[kr esa ls dkSu ls fodYi lgh gS\ 

 

a) fodYi 1] 2 rFkk 3 lgh gSA 
b) fodYi 1] 3 rFkk 4 lgh gSA 
c) fodYi 1] 2 rFkk 4 lgh gSA 
d) fodYi 2] 3 rFkk 4 lgh gSA 
 

37.  For the purpose of section 72A in respect of carry forward and set off of accumulated 

loss and unabsorbed depreciation in amalgamation or demerger etc, the strategic 

disinvestment means sale of shareholding by the Central Government or any State 

Government in public sector Company which results in: 

 

1) Reduction in Shareholding below 74%. 

2) Reduction in Share Holding below 51%. 

3) Reduction in Shareholding below 24%. 

4) Transfer of control to the byer. 

In respect of the above, which of the following options are correct? 

 

a) Options 1 and 4 are correct. 

b) Options 2 and 4 are correct. 

c) Option 3 and 4 are correct. 

d) Only option 2 is correct. 

 

lekesyu ;k foHkktu vkfn esa lafpr gkfu vkSj vuo’kksf”kr 

ewY;gzkl dks vkxs ys tkus vkSj lek;ksftr djus ds laca/k esa /kkjk 

72A ds iz;kstu ds fy,] j.kuhfrd fofuos’k dk vFkZ gS lkoZtfud 
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{ks= dh daiuh esa dsanz ljdkj ;k fdlh jkT; ljdkj }kjk 

‘ks;j/kkfjrk dh fcØh] ftlds ifj.kkeLo:Ik%  

1) ‘ks;j/kkj.k esa 74% ls uhps dh dehA 
2) ‘ks;j/kkj.k esa 51% ls uhps dh dehA 
3) ‘ks;j/kkj.k esa 24% ls uhps dh dehA 
4) [kjhnkj dks fu;a=.k dk varj.kA 

mijksDr ds laca/k esa] fuEufyf[kr esa ls dkSu ls fodYi lgh gS\ 

 

a) fodYi 1 rFkk 4 lgh gSA 
b) fodYi 2 rFkk 4 lgh gSA 
c) fodYi 3 rFkk 4 lgh gSA 
d) dsoy fodYi 2 lgh gSA 

 

38.  Section 80EEB of Income Tax Act provides for deduction of interest payable on loan 

taken from financial institution for the purpose of purchase of an electric vehicle. For 

the meaning of “Electric Vehicle “, as provided in this section, which of the following 

are correct? 

1) Vehicle should be powered exclusively by electric motor using battery. 

2) Vehicle should be powered by hybrid mode (both electric as well as petroleum 

fuel.) 

3) The braking system of the vehicle has a system to convert kinetic energy to 

electrical energy. 

In respect of the above, which of the following options are correct? 

 

a) Options 1 and 3 are correct. 

b) Options 2 and 3 are correct. 

c) Options 1 and 2 are correct. 

d) Only option 1 is correct. 

 

vk;dj vf/kfu;e dh /kkjk 80EEB fo|qr okgu dh [kjhn ds mn~ns’; 

ls foRRkh; laLFkk ls fy, x, _.k ij ns; C;kt dh dVkSrh dk 

izko/kku djrh gSA bl /kkjk esa micaf/kr ^fo|qr okgu* ds vFkZ ds 

fy, fuEufyf[kr esa ls dkSu ls lgh gS\ 

1) okgu dsoy cSVjh ds iz;ksx okyh fo|qr eksVj ls ‘kkfDRk izkIr 

djus okyk gksuk pkfg,A 
2) okgu gkbfczM eksM ¼bySfDVªd rFkk isVªksfy;e½ ls ‘kkfDr izkIRk 

djus okyk gksuk pkfg,A 
3) okgu dh czsfdax i)fr esa xfrt ÅtkZ dks fo|qr ÅtkZ esa 

cnyus dh O;oLFkk gksA 
mijksDr ds laca/k esa fuEufyf[kr esa ls dkSu ls fodYi lgh gSa\ 

 

a) fodYi 1 rFkk 3 lgh gSA 
b) fodYi 2 rFkk 3 lgh gSA 
c) fodYi 1 rFkk 2 lgh gSA 
d) dsoy fodYi 1 lgh gSA 
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39.  Which Form has been prescribed for furnishing of particulars of income for claiming 

relief under section 89 of the Income Tax Act? 

 

a) FORM No. 10 B 

b) FORM No. 10D 

c) FORM No.  10E 

d) FORM No. 10F 

 

vk;dj vf/kfu;e dh /kkjk 89 ds v/khu jkgr dk nkok djus ds 

fy, vk; dk C;kSjk izLrqr djus ds fy, dkSu&lk izi= fu/kkZfjr 

fd;k x;k gS\ 

 

a) izi= la- 10B 

b) izi= la- 10D 
c) izi= la- 10E 
d) izi= la- 10F 

 

40.  In respect of Deduction allowable on certain inter-corporate dividends under section 

80 M of the Income Tax Act, which of the following are correct? 

(1) It is applicable   only to domestic companies. 

(2) It is applicable to both domestic and foreign companies. 

(3) It is applicable to dividends received from domestic companies only. 

(4) It is applicable to dividends received from domestic companies and foreign 

companies. 

 

a) Options (1) & (3) are correct. 

b) Options (2) & (4) are correct. 

c) Options (2) & (3) are correct. 

d) Options  (1) & (4) are correct. 

 

vk;dj vf/kfu;e dh /kkjk 80M ds v/khu dqN varj fuxe ykHkka’kksa 

ij vuqefr ;ksX; dVkSfr;kas ds laca/k esa fuEufyf[kr esa ls dkSu ls 

lgh gSa\ 

(1) ;g dsoy ?kjsyw daifu;ksa ij ykxw gksrk gSA 
(2) ;g ?kjsyw rFkk fons’kh daifu;ksa&nksuksa ij ykxw gksrk gSA 
(3) ;g dsoy ?kjsyw daifu;ksa ls izkIr ykHkka’kksa ij ykxw gksrk gSA 
(4) ;g ?kjsyw daifu;ksa rFkk fons’kh daifu;ksa ls izkIr ykHkka’kksa ij 

ykxw gksrk gSA 

 
a) fodYi 1 rFkk 3 lgh gSA 
b) fodYi 2 rFkk 4 lgh gSA 
c) fodYi 2 rFkk 3 lgh gSA 
d) fodYi 1 rFkk 4 lgh gSA 
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41.  In respect of deduction under section 80IBA of Income Tax Act on profits and gains 

from housing projects, which of the following are correct? 

1) The carpet area of residential units should not exceed 30 Square Meters within 

the cities of Chennai, Delhi, Kolkata or Mumbai and 60 Square Meters in any 

other place. 

2) The carpet area of residential units should not be less than 30 Square Meters 

within the cities of Chennai, Delhi, Kolkata or Mumbai and 60 Square Meters 

in any other place. 

3) The plot area of the project should not be less than one thousand Square Meters 

within the metropolitan cities of Bengaluru, Chennai, Delhi National Capital 

Region (limited to Delhi, Noida, Greater Noida, Ghaziabad, Gurugram, 

Faridabad), Hyderabad, Kolkata and Mumbai  and two thousand  Square 

Meters in any other place. 

4) The plot area of the project should not exceed one thousand Square Meters 

within the metropolitan cities of Bengaluru, Chennai, Delhi National Capital 

Region (limited to Delhi, Noida, Greater Noida, Ghaziabad, Gurugram, 

Faridabad), Hyderabad, Kolkata and Mumbai  and two thousand  Square 

Meters in any other place. 

 

a) Options (1) and (3) are correct 

b) Options (1) and (4) are correct 

c) Options   (2) and (3) are correct 

d) Options (2) and (4)  are correct. 

 

vk;dj vf/kfu;e dh /kkjk 80IBA ds rgr gkmflax izkstSDV~l ls ykHk 

,oa izkfIr;ksa ij dVkSrh ds laca/k esa fuEufyf[kr esa ls dkSu lk 

fodYi lgh gS\ 

1) psUUkbZ] fnYYkh] dksydkÙkk ;k eqacbZ esa vkoklh; bdkb;ksa dk 

dkjisV ,fj;k 30 oxZ ehVj vkSj vU; nwljs LFkkuksa ij 60 

oxZ ehVj ls vf/kd ugha gksuk pkfg,A 
2) psUUkbZ] fnYYkh] dksydkÙkk ;k eqacbZ esa vkoklh; bdkb;ksa dk 

dkjisV ,fj;k 30 oxZ ehVj vkSj vU; nwljs LFkkuksa ij 60 

oxZ ehVj ls de ugha gksuk pkfg,A 
3) egkuxjh; ‘kgjksa&cSaxyw:] psUubZ] jk”Vªh; jkt/kkuh {ks= fnYYkh 

¼fnYYkh] uks,Mk] xzsVj uks,Mk] xkft;kckn] xq:xzke] Qjhnkckn 

rd lhfer½ gSnjkckn] dksydkÙkk vkSj eqacbZ eas izkstSDV dk IykWV 

,fj;k 1000 oxZ ehVj vkSj fdlh vU; LFkku ij 2000 oxZ 

ehVj ls de ugha gksuk pkfg,A 
4) egkuxjh; ‘kgjksa& cSaxyw:] psUubZ] jk”Vªh; jkt/kkuh {ks= fnYYkh 

¼fnYYkh] uks,Mk] xzsVj uks,Mk] xkft;kckn] xq:xzke] Qjhnkckn 

rd lhfer½ gSnjkckn] dksydkÙkk vkSj eqacbZ eas  izkstSDV dk 

IykV ,fj;k 1000 oxZ ehVj vkSj fdlh vU; LFkku ij 

2000 oxZ ehVj ls vf/kd ugha gksuk pkfg,A 
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a) fodYi (1) vkSj (3) lgh gSA 
b) fodYi (1) vkSj (4) lgh gSA 
c) fodYi (2) vkSj (3) lgh gSA 
d) fodYi (2) vkSj (4) lgh gSA 

 
42.  Where a tax payer is eligible to claim DTAA benefit, choose the most appropriate 

answer :- 

 

a) Provisions of DTAA shall apply to the tax payer 

b) Provisions of Income tax shall apply to tax payer 

c) Provisions of Income tax or DTAA whichever is more beneficial to taxpayer 

shall apply 

d) None of the above 

 

tgkWa ,d djnkrk DTAA dk ykHk ysus ds fy, ik= gS( lcls mfpr 
fodYi dk pquko djsa% 

 

a) DTAA ds izko/kku djnkrk ij ykxw gksaxsA 
b) djnkrk ij vk;dj ds izko/kku ykxw gksaxsA 
c) djnkrk ij vk;dj ;k DTAA, tks Hkh djnkrk ds fy, vf/kd  

ykHkdkjh gks] izko/kku ykxw gksaxsA 
d) mi;qZDr esa ls dksbZ ugha 

 

43.  In order to claim DTAA relief, a non resident is required to furnish, 

1) Tax Residency Certificate (TRC) 

2) Form 10F 

3) PAN 

Choose the correct answer/answers :- 

 

a) 1 & 3 

b) 2 & 3 

c) 1 & 2 

d) 1, 2 & 3 

 

DTAA dh jkgr ds nkos ds fy, ,d vfuoklh dks D;k izLrqr djuk 

gksxk & 

1) VSDl jsthMsalh izek.k&i= 
2) QkeZ 10F 
3) iSu (PAN) 

 

lgh fodYi pqusa%& 

 

a) 1 & 3 

b) 2 & 3 

c) 1 & 2 
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d) 1, 2 & 3 

 

44.  If one segment of an enterprise claims tax holiday, the purpose of transfer pricing is to  

 

1) Ensure that such profit of the segment is not Overstated 

2) Ensure that such profit of the segment is not Understated 

Choose the correct answer/answers :- 

 

a) Only 1 is correct 

b) Only 2 is correct 

c) Both 1 & 2 are correct 

d) Neither 1 nor 2 

 

;fn fdlh baVjizkbt dk ,d [kaM VSDl dh NwV dk nkok djrk gS] 

rks varj.k dher dk mÌs’; ;g lqfuf’pr djuk gS fd]  

1) [kaM dk ,slk ykHk Ck<+k&p<+kdj ugha fn[kk;k x;k gSA 
2) [kaM dk ,slk ykHk de djds ugha fn[kk;k x;k gSA  

 

lgh fodYi pqus%& 

 

a) dsoy 1 lgh gSA 

b) dsoy 2 lgh gSA 

c) 1 o 2 nksuksa lgh gSA 

d) uk gh 1 uk gh 2 lgh gS  

  
45.  Safe harbour is a mechanism:- 

 

a) To determine range where more than one price is determined use of appropriate 

method 

b) To determine Arm’s Length Price (ALP) 

c) To reduce litigation and create circumstance under which tax authorities shall 

accept the transfer price declared by the tax payer 

d) None of the above 

 

lsQ gkcZj ,d fØ;kfof/k gS ftldk iz;kstu %& 

 

a) {ks= dk fu/kkZj.k djuk tgkWa leqfpr rjhds dk iz;ksx djrs gq, 

,d ls vf/kd dherksa dk fu/kkZj.k gksrk gSA 
b) vlfUudV dher fu/kkZj.k (ALP) 
c) Ekqdnesckth de djuk vkSj ,sls gkykr cukuk ftlls dj 

izkf/kdkjh djnkrk }kjk ?kksf”kr varj.k dher dks Lohdkj dj 

ysaA 
d) mi;qZDr esa ls dksbZ ughaA  
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46.  Where a non resident entity has business connections with a resident Indian entity and 

the Indian entity constitutes a PE of the non resident, then the non resident will, 

 

a) Be liable to tax in India 

b) Be liable to tax outside India 

c) Not be liable to tax at all in or outside India 

d) None of the above 

 

tgkWa ,d vfuoklh ,afVVh ,d Hkkjrh; fuoklh ,afVVh ls O;kikfjd  

laca/k j[krh gS vkSj Hkkjrh; ,afVVh vfuoklh dh ,d PE gks tkrh gS] 

rks vfuoklh dh --------------------  

a) Hkkjr esa dj ns;rk gksxhA 
b) Hkkjr ls ckgj dj ns;rk gksxhA 
c) Hkkjr ;k Hkkjr ls ckgj dgh Hkh dj ns;rk ugha gksxhA 
d) mi;qZDr esa ls dksbZ ugha 

 

47.  As per the provisions of section 124(1) of the Income Tax Act, 1961, which of the 

following is/are correct. The Assessing Officer has been vested with jurisdiction over 

any area, within the limits of such area, he shall have jurisdiction in respect of 

 

i) Any person carrying on his business or profession, if the place of his business or 

profession is situated within the area. 

ii) Any person carrying on a business or profession in more than one places and the 

principal place of his business or profession is situated within the area. 

iii)  Any other person residing within the area. 

 

a) Only  (i) 

b) Only (i), and (ii)  

c) Only (i) and (iii) 

d) All of the above 

 

 vk;dj vf/kfu;e] 1961 dh /kkjk 124(1) ds izko/kkuksa ds vuqlkj] 

fuEufyf[kr esa ls dkSu lk@ls lgh gS@gSa\ dj fu/kkZj.k vf/kdkjh dks 

fdlh {ks= ij vf/kdkj {ks= fn;k x;k gS] ,ssls {ks= dh lhekvksa ds 

Hkhrj] mlds ikl fuEufyf[kr ds laca/k esa vf/kdkj {ks= gksxk% 

i) dksbZ Hkh O;fDr tks viuk O;olk; ;k is’kk pyk jgk gS] ;fn 
mlds O;olk; ;k is’ks dk LFkku {ks= ds Hkhrj fLFkr gSA 

ii) dksbZ O;fDr tks ,d ls vf/kd LFkkuksa ij O;olk; ;k is’kk 
djrk gS vkSj mlds O;olk; ;k is’ks dk eq[; LFkku ml {ks= 

ds Hkhrj fLFkr gSA 

iii) {ks= esa jgus okyk dksbZ vU; O;fDrA 
 

a) dsoy (i) 
b) dsoy (i) vkSj (ii)   
c) dsoy (i)  vkSj (iii) 
d) mijksDr lHkh  
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48.  Which of the following statements are Correct:  

(i) A resident as well as a non-resident individual can adjust the exemption 

limit against Long Term Capital Gains 

(ii) No deduction under sections 80C to 80U is allowed from long-term capital 

gains. 

Choose the correct option:- 

 

a) Both (i) and (ii) 

b) Only (i) 

c) Only (ii) 

d) Neither (i) nor (ii)  

fuEufyf[kr esa ls dkSu lk dFku lgh gS\ 

(i) ,d fuoklh vkSj ,d vfuoklh O;fDRk nksuksa gh nh?kZdkfyd 

iawthxr ykHk ds fo:) NwV lhek dks lek;ksftr dj ldrs 

gSA 

(ii) nh?kZdkfyd iwathxr ykHk ij /kkjk 80C ls 80U ds varxZr 

dksbZ dVkSrh ugha nh tkrh gSA   

lgh fodYi pqusa%& 

 

a) (i) vkSj (ii) nksuksa 

b) dsoy (i) 

c) dsoy (ii) 

d) u rks (i) vkSj u gh (ii) 

49.  Which of the following statements are correct as per the provisions of section 119 of 

Income Tax Act, 1961? 

(i) The Board may issue such orders, instructions and directions to other income-

tax authorities and such authorities shall observe and follow such orders, 

instructions and directions of the Board. 

(ii) The Board may issue such orders, instructions and directions to other income-

tax authorities to make a particular assessment or to dispose of a particular case 

in a particular manner where it is impacting the financial integrity of the nation. 

(iii)The Board may issue such orders to other income-tax authorities to admit an 

application or claim for any exemption, deduction, refund or any other relief 

under the Act after the expiry of the period specified under the Act.  

 

a) (i) and (ii) only 

b) (i) and (iii) only  

c) (ii) and (iii) only  

d) All of the above 

 

vk;dj vf/kfu;e] 1961 dh /kkjk 119 ds izko/kkuksa ds vuqlkj 
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fuEufyf[kr dFkuksa esa ls dkSu lk lgh gS\ 

(i) cksMZ vU; vk;dj izkf/kdkfj;ksa dks vkns’k] vuqns’k vkSj 

fn’kk&funsZ’k tkjh dj ldrk gS vkSj mu izkf/kdkfj;ksa dks bu 

vkns’kksa] vuqns’kksa vkSj fn’kk&funsZ’kksa dk vuqikyu vkSj 

vuqlj.k djuk gksxkA 
(ii) tgkWa dksbZ ekeyk ns’k dh foRRkh; v[kaMrk dks izHkkfor 

djrk gks cksMZ vU; vk;dj izkf/kdkfj;ksa dks vkns’k] vuqns’k 

vkSj fn’kk& funsZ’k tkjh dj ldrk gS fd os dksbZ fo’ks”k 

fu/kkZj.k djsa ;k ,slk dksbZ fo’ks”k ekeyk fo’ks”k rjhds ls 

fuiVk,a A 
(iii) cksMZ vU; vk;dj izkf/kdkfj;ksa dks ,sls vkns’k ns ldrk gS 

fd vf/kfu;e ds rgr fofufnZ”V le;kof/k dh lekfIr ds 

ckn fdlh NwV] dVkSrh] fjQaM ;k vf/kfu;e ds rgr fdlh 

vU; fjyhQ ds fy, vkosnu ;k nkos Lohdkj djsaA 

 
a) dsoy (i) vkSj (ii) 

b) dsoy (i)  vkSj (iii) 

c) dsoy (ii) vkSj (iii) 

d) mi;qZDr lHkh  

 

50.  Which of the following statement(s) is/are correct as per the provisions of section 

131(1A) of the Income Tax Act, 1961? 

 

i) The ADIT/DDIT can issue summons to any person where he has reason to 

believe that there is concealment of income even where no proceedings are 

pending before him. 

ii) The ADIT/DDIT can issue summons to any person after having reason to 

suspect that there is concealment of income even where no proceedings are 

pending before him. 

iii) The ADIT/DDIT can impound the books of accounts after recording the 

reasons for doing so and can retain those impounded books for the period of 30 

days (exclusive of holidays) without taking approval from PDIT/DGIT. 

Choose the correct option:- 

a) (i) only 

b) (ii) only  

c) (i) and (iii) only  

d) (ii) and (iii) only  

 

vk;dj vf/kfu;e] 1961 dh /kkjk 131(1A) ds izko/kkuksa ds vuqlkj 

fuEufyf[kr esa ls dkSu&lk@ls dFku lgh gS@gSa\ 

(i) lgk;d vk;dj funs’kd@ vk;dj mi&funs’kd dks ;fn ;g 

fo’okl djus dk dkj.k gS fd vk; fNikbZ xbZ gS rks os] 

fdlh O;fDr dks leu tkjh dj ldrs gaS( ;|fi muds ikl 

dksbZ dk;Zokgh yafcr u gksA 
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(ii) lgk;d vk;dj vk;qDr@ vk;dj mi&funs’kd bl lansg ds 

vk/kkj ij fd vk; dks fNik;k x;k gS] fdlh O;fDr dks 

leu tkjh dj ldrk gS] tcfd mlds f[kykQ dksbZ Hkh 

dk;Zokgh yafcr ugha gksA  
(iii) lgk;d vk;dj funs’kd@ vk;dj mi&funs’kd] PDIT/DGIT ds 

vuqeksnu ds fcuk gh] dkj.kksa dks fjdkMZ djds ys[kk cgh 

dks ifjc) dj ldrk gS vkSj 30 fnu dh dkykof/k 

¼NqfV~V;ksa dks NksM+dj½ rd jksd dj j[k ldrk gSA  
lgh fodYi pqusa%& 

a) dsoy (i) 

b) dsoy (ii) 

c) dsoy (i) vkSj (iii) 

d) dsoy (ii) vkSj (iii) 

 

51.  The PDIT may authorise an officer not below the rank of Income Tax Officer u/s 

132(1) of the Income Tax Act, 1961,  

 

i) To enter and search any building, place, vessel, vehicle or aircraft where he has 

reason to believe that such books of account, other documents, money, bullion, 

jewellery or other valuable article or thing are kept. 

ii) To break open the lock of any door, box, locker, safe, almirah kept in the 

premises where the warrant of authorisation is issued and the keys thereof are 

not available. 

iii) To seize any such books of account, other documents, money, bullion, 

jewellery or other valuable article or stock in trade found as a result of such 

search. 

iv) To place marks of identification on any books of account or other documents or 

make extracts or copies therefrom. 

Choose the correct option:- 

a) (i), (ii) and (iii) only 

b) (i), (iii) and (iv) only  

c) (ii) and (iv) only  

d) All of the above 

 

iz/kku vk;dj funs’kd] vk;dj vf/kfu;e 1961 dh /kkjk 132¼1½ 

ds rgr de ls de vk;dj vf/kdkjh ds Lrj ds vf/kdkjh dks ------

---------------djus ds fy, izkf/kd`r dj ldrk gSA 

(i) fdlh ,sls Hkou] LFkku] ty;ku] ;ku ;k ok;q;ku esa izos’k 

djus vkSj ryk’kh ysus ds fy,] tgkWa mlds ikl ;g laansg 

djus dk dkj.k gS fd ,slh ys[kk cfg;kWa] vU; nLrkost 

/ku] lksuk] pkWanh] vkHkw”k.k ;k vU; ewY;oku oLrq,a ;k phtsa 

j[kh gqbZ gaSA  
(ii) fdlh ,sls LFkku ds fdlh nLrksot+] lanwd] ykWdj] frtksjh] 

vyekjh ;k rkyk rksM+dj [kksys tgka ds fy;s mls izkf/kdkj 
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okjaV izkIr gS vkSj tc mudh daqft;kWa miyC/k u gksaA 
(iii) ,slh ryk’kh ds ifj.kkeLo:Ik] ikbZxbZ fdUgh ys[kkcfg;ksa] 

vU; nLrkostksa] /ku] lksuk] pkWanh vkHkw”k.k ;k vU; ewY;oku 

oLrqvksa ;k LVkWd bu VªsM dks vfHkx`ghr djsA 
(iv) fdUgh ys[kkcfg;ksa ;k vU; nLrkostksa ij igpku fpg~u 

yxk, ;k muls mnkgj.k ;k mudh udysa ysA 
lgh fodYi pqusa%& 

a) dsoy (i), (ii) vkSj (iii) 
b) dsoy (i), (iii) vkSj (iv) 

c) dsoy (ii) vkSj (iv) 

d) mijksDr lHkh 

 

52.  The order passed u/s 132(3) of the Income Tax Act, 1961, shall be in force for the 

period not exceeding 

 

a) 30 days from the date of the order 

b) 60 days from the date of the order 

c) 90 days from the date of the order 

d) 120 days from the date of the order 

 

vk;dj vf/kfu;e 1961 dh /kkjk 132¼3½ ds rgr tkjh vkns’k] --

------- dh vof/k ls vuf/kd izHkkoh gksxkA 

a) vkns’k dh rkjh[k ls 30 fnuA 
b) vkns’k dh rkjh[k ls 60 fnuA 
c) vkns’k dh rkjh[k ls 90 fnuA 
d) vkns’k dh rkjh[k ls 120 fnuA 

 

53.  Which of the following statements are correct with respect to search conducted by the 

authorised officer u/s 132 of Income Tax Act, 1961? 

i) He can provisionally attach any property belonging to the assessee with prior 

approval of PDIT/DGIT within a period of 60 days from the date of last 

authorisation for search was executed. 

ii) The provisional attachment made shall cease to have effect after expiry of six 

months from the date of the order. 

iii) He can make reference to valuation officer to estimate the fair market value of 

the property within a period of 60 days from the date of last authorisation for 

search was executed. 

iv) The relevant Rules for valuation of property are 12 and 12A of Income Tax 

Rules, 1962. 

Choose the correct option:- 

a) (i) and (ii) only 

b) (iii) and (iv) only  

c) (i), (ii) and (iii) only  

d) All of the above 
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vk;dj vf/kfu;e 1961 dh /kkjk 132 ds varxZr izkf/kd`r 

vf/kdkjh }kjk lapkfyr ryk’kh ds lanHkZ esa fuEufyf[kr esa ls dkSu 

ls dFku lgh gSa\ 

(i) og iz/kku vk;dj funs’kd@vk;dj egkfuns’kd d s iwoZ 

vuqeksnu ls] fiNyh izkf/kd`r :Ik ls dh xbZ ryk’kh ds 60 

fnuksa ds vanj] fu/kkZfjrh ls lacaf/kr fdlh Hkh laifÙk dh 

vuafre :Ik ls dqdhZ dj ldrk gSA 
(ii) vuafre :Ik ls dh xbZ dqdhZ] vkns’k dh rkjh[k ls 6 ekg 

chr tkus ij izHkkoh ugha jgsxkA 
(iii)fiNyh izkf/kd`r ryk’kh ds 60 fnuksa ds vanj] og laifÙk ds 

mfpr cktkj ewY; dk izkdyu djus ds fy, ewY;kadu 

vf/kdkjh dk lanHkZ ys ldrk gSA 
(iv) laifÙk dk ewY;kadu djus ds fy, lqlaxr fu;e vk;dj 

fu;e 1962 dk fu;e 12 vkSj 12A gS  
lgh fodYi pqus%& 

a) dsoy (i) vkSj (ii) 

b) dsoy (iii) vkSj (iv) 

c) dsoy (i), (ii) vkSj (iii) 

d) mijksDr lHkh 

54.  The assets seized during the search can be released u/s 132B of the Income Tax 

Act,1961. As per the provisions of said section, which of the following statements is 

/are  are correct? 

(i) The person concerned can make an application to the Assessing Officer within 

sixty days from the end of the month in which the asset was seized and the 

nature and source of acquisition of seized asset is explained. 

(ii) On receipt of application from the person, the Assessing Officer finds that after 

adjusting the existing tax liability, there is balance asset still left. 

(iii)when the balance asset is still left, after taking prior approval of the PCIT/CIT, 

the Assessing Officer can release the balance asset to the person from whose 

custody the assets were seized.  

(iv) The balance asset or any portion thereof shall be released within a period of 

120 days from the date on which the last of the authorisations for search u/s 

132 was executed. 

Choose the correct option:- 

a) (i), (ii) and (iii) only 

b) (ii), (iii) and (iv) only  

c) (i), (ii) and (iv) only  

d) All of the above 

 

vk;dj vf/kfu;e 1961 dh /kkjk 132B ds varxZr ryk’kh ds nkSjku 

vfHkxzghr ifjlaifÙk;kWa fueksZfpr dh tk ldrh gaSA dfFkr /kkjk ds 

izko/kkuksa ds rgr] fuEufyf[kr esa ls dkSu ls dFku lgh gSa & 

(i) lacaf/kr O;fDRk ml ekl] ftlesa ifjlaifÙk vfHkx`ghr dh 

xbZ Fkh] ds var ls] lkB fnu ds Hkhrj fu/kkZj.k vf/kdkjh 
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dks ifjlaifÙk ds mUekspu gsrq vfHkx`fgr ifjlaifRr dk 

Lo:i rFkk mlds vtZu ds lzksr dk mYys[k djrs gq, 

vkosnu i= izLrqr djsA  
(ii) O;fDr ls vkosnu izkIr djus ds ckn fu/kkZj.k vf/kdkjh ;g 

ikrk gS fd ekStwnk dj ns;rkvksa dk leUo;u djus ds 

mijkar ‘ks”k ifjlaifÙk vHkh Hkh NwVh gqbZ gSA 
(iii) ;fn ifjlaifÙk ‘ks”k gS rks fu/kkZj.k vf/kdkjh iz/kku vk;dj 

vk;qDRk@vk;dj vk;qDRk ds iwoZ vuqeksnu ls ml O;fDRk dh 

‘ks”k ifjlaifÙk fueqZDr djrk gS] ftl O;fDRk dh vfHkj{kk ls 

ifjlaifÙk;ka mUeksfpr dh x;h FkhA 
(iv) ‘ks”k ifjlaifÙk vFkok mldk dksbZ fgLLkk] /kkjk 132 ds 

varxZr dh xbZ izkf/kd`r ryk’kh ds vafre fnu ls 120 

fnuksa ds Hkhrj] mUeksfpr dh tk,xhA 
lgh fodYi pqusa%& 

a) dsoy (i), (ii) vkSj (iii) 
b) dsoy (ii), (iii) vkSj (iv) 

c) dsoy (i), (ii) vkSj (iv) 
d) mijksDr lHkh 

 
55.  The CBDT may, by notification in the Official Gazette, as provided in section 120(6) 

of the Act, assign jurisdiction   

 

1) For the purpose of furnishing of return of income 

2) For doing of any other act or thing under the Income tax Act or Income tax 

Rules 

Choose the correct answer/answers:- 

 

a) Only 1 is correct 

b) Only 2 is correct 

c) Both 1 & 2 are correct 

d) None of the above  

 

dsanzh; izR;{k dj cksMZ] /kkjk 120¼6½ ds izko/kku vuqlkj ljdkjh 

xtV esa vf/klwpuk }kjk tks fd vf/kdkfjrk lekuqnsf’kr dj ldrk 

gS% 

1) vk; dh fjVuZ ds izLrqrhdj.k ds mn~ns’; ls A 
2) vk;dj vf/kfu;e vFkok vk;dj fu;e ds varxZr dksbZ nwljk 

dk;Z@pht djus ds fy,A 
lgh fodYi pqus%& 

 

a) dsoy 1 lgh gSA 

b) dsoy 2 lgh gSA 

c) 1 vkSj 2 nksuksa lgh gSA 

d) mijksDr esa ls dksbZ ughaA 
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56.  Section 119 of Income tax Act requires that an order issued under section 119 ___ 

 

a) Shall be approved by the Finance Minister 

b) Shall be approved by the Prime Minister 

c) Shall be laid before each house of Parliament 

d) None of the above 

 

vk;dj vf/kfu;e dh /kkjk 119 ds vuqlkj] /kkjk 119 ds rgr 

tkjh fd;s tkus okyk vkns’k & 

 

a) foÙkea=h }kjk vuqeksfnr fd;k tk,xkA 
b) iz/kkuea=h }kjk vuqeksfnr fd;k tk,xkA 
c) laln ds nksuksa lnuksa ds chp j[kk tk,xkA 
d) mijksDr esa ls dksbZ ughaA 

 
57.  Disclosure of information in respect of an assessee may be made under section 138 of 

Income tax Act _______ 

1) To any authority under any law relating to imposition of tax, duty or cess 

2) To another assessee, if the disclosure of such information is in public interest 

Choose the correct answer/answers:- 

 

a) Only 1 is correct 

b) Only 2 is correct 

c) Both 1 & 2 are correct 

d) None of the above  

 

vk;dj vf/kfu;e dh /kkjk 138 ds varxZr ,d fu/kkZfjrh ls  

lacaf/kr lwpuk dk izdVhdj.k fd;k tk ldrk gSA 

1) fdlh fof/k ds rgr( dj ‘kqYd vFkok midj vf/kjksi.k ls 

lacaf/kr fdlh izkf/kdkjh dks   
2) fdlh nwljs fu/kkZfjrh dks] ;fn bl lwpuk dk izdVhdj.k yksd 

fgr esa gksA 
lgh fodYi pqus%& 

 

a) dsoy 1 lgh gSA 

b) dsoy 2 lgh gSA 

c) 1 vkSj 2 nksuksa lgh gSA 

d) mijksDr esa ls dksbZ ughaA 
 

58.  A person who has not filed a return as per section 139(1) can file a return as per 

section 139(4) for any PY within a period of? 

 

a) At any time before three months prior to the end of the relevant AY or before 

completion of assessment, whichever is later 
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b) At any time  before three months prior to the end of the relevant AY or before 

completion of assessment, whichever is earlier 

c) Before three months from the end of the relevant AY or completion of 

assessment , whichever is later 

d) Before three months from the end of the relevant AY or completion of 

assessment , whichever is earlier 

 

,d O;fDRk ftlus /kkjk 139¼1½ ds vuqlkj fooj.kh QkbZy ugha dh 

gS] og /kkjk 139¼4½ ds varxZr fiNys fdlh o”kZ dh fooj.kh fdruh 

vof/k ds vanj QkbZy dj ldrk gS\ 

 

a) izklafxd fu/kkZj.k o”kZ ds var ds rhu eghus iwoZ] fdlh Hkh 

le; vFkok fu/kkZj.k iw.kZ gksus ls igys] buesa tks Hkh ckn esa 

gksA 
b) izklafxd fu/kkZj.k o”kZ ds var ds rhu eghus iwoZ fdlh Hkh 

le;] vFkok fu/kkZj.k iw.kZ gksus ls igys] buesa tks Hkh igys 

gksA 
c) izklafxd fu/kkZj.k o”kZ ds [kRe gksus ls rhu ekg igys] vFkok 

fu/kkZj.k o”kZ iw.kZ gkssus ij] tks Hkh ckn esa gksA 
d) izklafxd fu/kkZj.k o”kZ ds [kRe gksus ls rhu ekg igys] vFkok 

fu/kkZj.k o”kZ ds iw.kZ gksus ij tks Hkh igys gksA 
 

59.  An updated return u/s 139(8A) cannot be filed by an assessee in the following 

situation? 

 

a) The case was covered under search u/s 132/ 132A 

b) The case was covered under a survey u/s 133A 

c) If up dated return would result in a lower tax liability. 

d) All of the above  

 

/kkjk 139(8A) ds varxZr] fu/kkZfjrh }kjk ,d v/;ru fjVuZ]  

fuEufyf[kr fdu ifjfLFkfr;ksa esa QkbZy ugha dh tk ldrh\ 

 

a) ;fn ekeyk /kkjk 132/132A ds rgr ryk’kh dk gksA 
b) ;fn ekeyk /kkjk 133A ds rgr losZ{k.k ls lacaf/kr gksA 
c) ;fn fjVuZ viMsV fd;k tk, rks dj ns;rk de gksxhA 
d) mijksDr lHkhA 

 
60.  As per section 144C(4) The AO has to pass the final order within one month  from the 

------------- intimating the acceptance/non-acceptance of the variation proposed in draft 

order.  

(correct option to be filled in ) 

 

a) Date of reply by the assesse 

b) End of the month in which reply filed by the assesse 
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c) End of the financial year in which the reply filed by the assessee  

d) None of the above  

 

/kkjk 144C(4) ds rgr] fu/kkZj.k vf/kdkjh dks] Mªk¶V vkMZj esa izLrkfor  

/kkjk 144C(4) ds vuqlkj fu/kkZj.k vf/kdkjh dks ------ ds ,d eghus ds 

vanj vafre vkns’k tkjh djuk iM+rk gSA 

 

a) fu/kkZfjrh }kjk fn, x, mRRkj dh rkjh[kA 
b) ml ekg ds var ls ftlesa fu/kkZfjrh us mRRkj QkbZy fd;k FkkA 
c) ml foRRkh; o”kZ ds var ls ftlesa fu/kkZfjrh us mRrj QkbZy 

fd;k FkkA 
d) mijksDr esa ls dksbZ ugha   

 

61.  The AO in a case invokes sec 144 and proceeds to frame assessment to the best of his 

judgment after giving assessee an opportunity in form of Show-cause Notice. As per 

the Act, which of the following failure of the assessee could stand-alone justify 

framing of assessment u/s 144 of the Act in a case:  

 

1) The assessee having failed to make return as required u/s 139(1) but filed 

return only after notice u/s 148 was issued.  

2) The assessee having failed to comply with directions u/s 142(2A) of the Act 

issued after following due procedure.  

3) The assessee having filed evidence and information in responses to 5 out of 6 

specific questions/requirements raised in the notice u/s 142(1) while failed to 

furnish the details in respect of 6th question.  

Choose the correct answer/answers:- 

 

a) Only 1 is correct  

b) 1 & 3 are correct 

c) 1 & 2 are correct 

d) 2 & 3 are correct 

 
fdlh ekeys esa ,-vks us /kkjk 144 izHkkoh fd;k vkSj dkj.k crkvksa 

uksfVl ds :Ik esa fu/kkZfjr dks volj iznku djrs gq, vius loksZÙke 

fu.kZ; }kjk fu/kkZj.k dh fojpuk dh dk;Zokgh ‘kq: dhA vf/kfu;e ds 

vuqlkj fu/kkZfjrh dh fuEu esa ls /kkjk144 ds varxZr dkSu lh 

vlQyrk fu/kkZj.k dh fojpuk dks vdsys gh U;k;laxr cuk ldrh 

gSA  

1) Tkc fu/kkZfjrh /kkjk 139¼1½ ds rgr fooj.kh nkf[ky uk dj 

ik;k gks vkSj mlus /kkjk 148 ds rgr tkjh uksfVl ds ckn 

fooj.kh nkf[ky dh gksA 
2) lE;d izfØ;k dk ikyu djus ds mijkar tkjh vf/kfu;e dh 

/kkjk 142(2A) ds funsZ’kksa ds vuqikyu esa fu/kkZfjrh dh  

vlQyrk ds ekeys esA 
3) /kkjk 142(1) ds rgr tkjh ukfVl esa iwNs x;s 6 fof’k”V 
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lokyksa@vis{kkvksa esa ls fu/kkZfjrh us 5 ds fy;s lcwr ;k 

tkudkjh miyC/k djk nh tcfd NBs loky ds laca/k esa lwpuk 

izLrqr djus esa vlQy jgkA 
lgh fodYi pqus%& 

 

a) dsoy 1 lgh gSA 

b) 1 vkSj 3 lgh gSA 

c) 1 vkSj 2 lgh gSA 

d) 2 vkSj 3 lgh gSA 
 

62.  Which of the following statements regarding TDS on winnings from lottery or cross 

word puzzle is true.? 

a) The minimum winning from lottery for which TDS is attracted is one lakh rupees 

in aggregate.  

b) If the winnings are partly in kind and partly in cash which is not sufficient to 

meet the liability of TDS, the person responsible for paying shall release the 

winnings only after ensuring that the tax had been paid in respect of the winnings 

by the winner. 

c) 194B section deals with lottery winnings and cross word puzzles and also 

include the winnings from online games on or after 1st day of April, 2023 

d) If the winnings are fully in kind, then the TDS on gambling or betting does not 

arise. 

ØkWl&oMZ igsyh ;k ykWVjh esa thrs x;s buke ij yxs Vh-Mh-,l ds 

laca/k esa fuEu esa ls dkSu lk@ls dFku lR; gS\ 

 

a) Vh-Mh-,l- ds fy;s ykxw gksus ds fy;s] ykWVjh dh ldy 

U;wure jkf’k ,d yk[k :i;s gksuh pkfg,A 
b) ;fn buke dqN oLrq rFkk dqN udn ds :Ik eas gks tks Vh-Mh-

,l dh ns;rk ds fy, vi;kZIRk gks rks fotsrk }kjk buke ds 

ekeys esa tks O;fDRk Hkqxrku ds fy, ftEEksnkj gksxk oks dj ds 

Hkqxrku dh iqf”V ds ckn gh buke iznku dj ldrk gSA 
c) /kkjk 194B ykWVjh ds buke rFkk ØkWl oMZ igsyh ls lacaf/kr gS 

rFkk fnukad 1 vizSy 2023 dks ;k mlds ckn ls blesa 

vkWuykbu [ksyksa ds buke Hkh ‘kkfey gSaA 
d) ;fn buke iw.kZ :Ik ls oLrq ds :Ik esa gS rks |wr rFkk nko 

yxkus ij Vh-Mh-,l ugha yxsxkA 
 

63.  Which of the following statements are false regarding TDS? 

a) Payee can be resident or Non-resident as defined in respective sections. 

b) TDS  is deductible on amount of the payment and not on the amount of Income 

c)  TDS is deductible for any sum paid by way of interest or dividend or other sums 

payable to the Government, RBI or certain corporations (whose income under 
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the Act is exempt from tax) 

d) TDS is to be deducted only on certain payments specified in chapter XVII B and 

not on all payments 

Vh-Mh-,l ds laca/k esa dkSu ls dFku xyr gSa\ 

 

a) tSlk dh vyx vyx /kkjkvksa esa ifjHkkf”kr gS] vknkrk fuoklh 

;k vfuoklh nksuksa gks ldrk gSA 
b) Vh-Mh-,l Hkqxrku jkf’k ij dVkSrh ;ksX; gS u fd vk; dh 

jkf’k ijA 
c) Lkjdkj vkj-ch-vkbZ ;k dqN fuxeksa ¼ftudh vk; vf/kfu;e ds 

rgr djk/kku ls NwV izkIr gS½ dks ns;] C;kt vFkok ykHkka’k ;k 

vU; fdlh jkf’k ij Vh-Mh-,l- ns; gSA 
d) v/;k; XVII-B esa of.kZr fof’k”V izdkj ds Hkqxrkuksa ij gh Vh-

Mh-,l- dkVk tk ldrk gS] uk fd lHkh izdkj ds Hkqxrku isA 
 

64.  “Hotel Triptip” is running a chain of restaurants and has 50 employees. The employees 

such as cooks, waiters and cleaners are prohibited from getting “tips” directly from 

customers. Instead the hotel collects the tips from the customers, which is included in 

their bills. Later the hotel management distributes the tip amount equally to the 

employees along with their salary payment. In this regard which of the following 

statement is false? 

a) The tip amount is distributed along with salary and hence to be considered as 

part of salary and hence the TDS has to be deducted on whole of such payment. 

b) The hotel management has only re-distributed the tips amount and hence cannot 

be considered as employer for the purpose of tip money and hence no TDS is 

deductible for the tips payment. 

c) The income from tips will be chargeable in the hands of employees as “income 

from other sources”. 

d) The customer who paid the tip is not responsible for TDS as he cannot be 

considered as employer. 

gksVy fVªifVi dbZ jsLVksjsUVksa dh J`[kayk pykrk gS rFkk blds 50 

deZpkjh gSaA deZpkfj;ksa tSls dqd] osVj rFkk lQkbZdfeZ;ksa dks xzkgd 

ls lh/ks fVi ysus dh eukgh gSA fVi xzkgd ds fcy esa tqM+ tkrh gSA 

ckn esa gksVy izca/ku fVi dh jkf’k dks lHkh deZpkfj;ksa dks muds 

osru Hkqxrku ds lkFk cjkcj&cjkcj ckWaV nsrk gSA bl laca/k esa fuEu 

esa ls dkSu lk dFku xyr gS\ 

 

a) fVi jkf’k dks osru ds lkFk fn;k x;k] blfy, mls osru dk 

Hkkx ekuk tk,xk vkSj bl izdkj Vh-Mh-,l Hkqxrku dh xbZ 

iw.kZ jkf’k ij dkVk tk,xkA 
b) gksVy izca/ku us fVi dks dsoy iqu% forjhr fd;k blfy, mls] 

fVi dh jkf’k ds :Ik esa fu;ksDrk dk ugha ekuk tk,xk vkSj 

bl izdkj fVi dh jkf’k ij Vh-Mh-,l dVus ;ksX; ugha gSA 
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c) deZpkjh ds }kjk fVi ls izkIr vk; vU; lzksr ls izkIRk vk; 

ds :Ik eas vfHk;ksT; gSA  
d) ftl xzkgd us fVi fn;k gS og Vh-Mh-,l dh dVkSrh ds ;ksX; 

ugha gksxk D;kasfd mls fu;ksDrk ugha ekuk tk,xkA 
 

65.  Which one of the following statement is WRONG? 

a) TDS in case of specified senior citizens is governed by section 194P of the 

income tax Act 

b) “Specified Senior Citizen” means an individual, being a resident in India: who is 

80 years or more at any time during the previous year. 

c) “Specified Senior Citizen” means an individual who is having pension income 

and no other income except interest received or receivable from any account in 

the specified bank in which he is receiving the pension income. 

d) “Specified senior citizen” has to furnish form 12BBA to the specified Bank.  

fuEu esa ls dkSu lk fodYi xyr gSS\ 

 

a) ^^fofufnZ”V ofj”B ukxfjd** ds ekeys esa vk;dj vf/kfu;e dh 

/kkjk 194P Vh-Mh-,l dks fu;fer djrh gSA 
b) ^^fofufnZ”V ofj”B ukxfjd** dk rkRi;Z &,ssls O;fDRk ls gS tks 

Hkkjr esa fuoklh gks vkSj ftldh vk;q fiNys o”kZ ds nkSjku 

fdlh Hkh le; 80 o”kZ ;k mlls vf/kd jghA 
c) ^^fofufnZ”V ofj”B ukxfjd** dk rkRi;Z gS ,slk O;fDr ftlds 

ikl ias’ku dh vk; gks rFkk fofufnZ”V cSad esa izkIRk fd;s tkus 

okyh ias’ku dh vk; ls izkIr ;k izkI; C;kt ds vU;Fkk dksbZ 

vU; vk; uk gksA 
d) ^^fofufnZ”V ofj”B ukxfjd** dks fofufnZ”V cSad esa QkeZ 12BBA 

izLrqqr djuk gksrk gSA 
 

66.  Consider the following statements 

A. With a view to facilitating electronic payment of taxes by different categories of 

taxpayers, it is clarified that an assessee can make electronic payment of taxes 

also from the account of any other person. However, the challan must clearly 

indicate the PAN of the assessee on whose behalf the payment is made. 

B. If the last day for payment of any installments of advance tax is a day on which 

receiving bank is closed, the assessee can make the payment on the next 

immediately following working day, and in such cases, the mandatory interest 

leviable under sections 234B and 234C would not be charged. 

Choose the correct option: 

 

a) Only Statement A is correct 

b) Only Statement B is correct 
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c) Both statement A & B are correct 

d) Neither statement A nor statement B is correct. 

fuEufyf[kr dFkuksa Ikj fopkj djsa %& 

A. fofHkUUk Js.kh ds djnkrkvksa dks bysDVªksfud Hkqxrku dh lqfo/kk 

iznku djus ds n`f”Vdks.k ls ;g Li”V fd;k x;k gS fd 

bysDVªksfud ek/;e ls dj dk Hkqxrku fu/kkZfjrh fdlh nwljs ds 

[kkrs ls Hkh dj ldrk gS] c’krsZ ftl fu/kkZfjrh dh vksj ls 

Hkqxrku fd;k x;k gks] pkyku esa ml fu/kkZfjrh dk iSu Li”V 

:Ik ls iznf’kZr fd;k x;k gksA 
B. ;fn vfxze dj dh fdlh fd’r ds Hkqxrku ds vafre fnu 

izkIrdrkZ cSad esa NqV~Vh gks rks ,slh fLFkfr esa fu/kkZfjr mlls 

Bhd ckn ds dk;Z fnol dks Hkqxrku dj ldrk gS vkSj bu 

ekeyksa esa /kkjk 234B rFkk 234C ds rgr yxus okys vfuok;Z 
C;kt Hkh izHkk;Z ugha gksxkA  

 

lgh fodYi pqus% 

 
a) dsoy dFku A lR; gSA 
b) dsoy dFku B lR; gSA 
c) dFku A vkSj B nksuksa lR; gSa 
d) uk dFku A lgh gS uk dFku B lgh gSaA  
 

67.  Which one of the following is not correctly matched? 

a) Section 201(IA) – interest for failure to deduct and pay tax at source. 

b) Section 220(2) – interest for late payment of demand of tax, etc 

c) Section 234F – Fee for default in furnishing TDS/TCS statement. 

d) Section 234H – Fee for default relating to intimation of Aadhaar number. 

fuEu esa ls dkSu lk lgh feyku ugha gS\ 

 

a) /kkjk 201(IA) & L=ksr ij dj dh dVkSrh ,oa Hkqxrku dh 

vlQyrk ds fy, C;ktA 
b) /kkjk 220(2) & dj dh ekax vkfn ds Hkqxrku esa foyac dj 

C;ktA 
c) /kkjk 234F & Vh-Mh-,l@Vh-Mh-,l@Vh-Mh-,l fooj.k izLrqrh uk dj 

ikus ds fy, ‘kqYdA 
d) /kkjk 234H &  vk/kkj uacj dh lwpuk ds laca/k esa pwd ds fy, 

‘kqYdA 
 

68.  Person “R”  filed return of income for assessment year 2023-24 claiming a refund of 

Rs.45,000. The return was processed under section 143(1) and the refund was issued to 

the assessee on 1.3.2024 along with interest of Rs.5,400. The Assessing Officer issued 

notice under section 143(2) for regular assessment and the said assessment was 

completed on 16.8.2024 resulting in demand of Rs.22,500 of the tax. Compute the 

interest payable by R under section 234D on the amount of refund granted at the time 
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of summary assessment? 

a) Rs 856 

b) Rs 756 

c) Rs 556 

d) None of the above. 

‘R’ us fu/kkZj.k o”kZ 2023&24 ds fy, :- 45]000@& ds fjQaM dk 

nkok djrs gq, vk; dh fooj.kh nkf[ky dhA /kkjk 143¼1½ ds rgr 

fooj.kh dk fu/kkZj.k fd;k x;k rFkk :- 5]400@& ds C;kt ds lkFk 

fnukad 01-03-2024 dks fu/kkZfjrh dks fjQaM tkjh dj fn;k x;kA 

fu/kkZj.k vf/kdkjh us fu;fer fu/kkZj.k gsrq /kkjk 143¼2½ ds rgr 

uksfVl tkjh fd;k vkSj mDr fu/kkZj.k :- 22]500@& dh dj dh 

ekWax ds lkFk fnukad 16-08-2024 dks iw.kZ gqvkA R }kjk /kkjk 

234D ds rgr ns; C;kt dk ifjdyu djsa 

 

a) :- 856@& 
b) :- 756@& 
c) :- 556@& 
d) mijksDr esa ls dksbZ ugha  
 

69.  If an assessee is not satisfied with the order passed by the Assessing Officer, he can 

 

a) Only file an appeal before the CIT(Appeal) 

b) Only apply for revision before the CIT u/s 264 

c) File an appeal as well as apply for revision 

d) Either file an appeal or apply for revision u/s 264 

 

;fn fu/kkZj.k vf/kdkjh }kjk tkjh vkns’k ls fu/kkZfjrh larq”V ugha gS 

rks og&&& 

 

a) vk;dj vk;qDr ¼vihy½ ds le{k vihy nkf[ky dj ldrk 

gSA  
b) /kkjk 264 ds rgr vk;dj vk;qDr ds le{k la’kks/ku gsrq 

vkosnu dj ldrk gSA 
c) vihy nkf[ky djus ds lkFk&lkFk la’kks/ku gsrq vkosnu dj 

ldrk gSA 
d) ;k rks vihy nkf[ky dj ldrk gS ;k fQj /kkjk 264 ds 

rgr la’kks/ku gsrq vkosnu dj ldrk gSA 
 

70.  As per section 285BA, due date for Filing of statement of financial transaction or 

reportable account (Previously called as ‘Annual Information Return’) is :- 

 

a) On or before the 31st July immediately following the financial year in which 

the transaction is registered or recorded. 

b) On or before the 31st May immediately following the financial year in which 
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the transaction is registered or recorded 

c) On or before the 31st October immediately following the financial year in 

which the transaction is registered or recorded 

d) On or before the 30th November immediately following the financial year in 

which the transaction is registered or recorded 

 

/kkjk 285BA ds rgr foÙkh; ysu&nsu ;k izfros| [kkrk ¼ftls igys 
okf”kZd lwpuk fooj.kh dgk tkrk Fkk½ ds fooj.k ds QkbZfyax gsrq 

fu;r frfFk% 

 

a) ftl foRr o”kZ esa ysu&nsu iathd`r ;k vfHkfyf[kr fd;k x;k 

Fkk] mlds Bhd Ik’porhZ 31 tqykbZ ;k mlls igysA 
b) ftl foRr o”kZ esa ysu&nsu iathd`r ;k vfHkfyf[kr fd;k x;k 

Fkk] mlds Bhd Ik’porhZ 31 ebZ ;k mlls igysA 
c) ftl foRr o”kZ esa ysu&nsu iathd`r ;k vfHkfyf[kr fd;k x;k 

Fkk] mlds Bhd Ik’porhZ 31 vDVwcj ;k mlls igysA 
d) ftl foRr o”kZ esa ysu&nsu iathd`r ;k vfHkfyf[kr fd;k x;k 

Fkk] mlds Bhd Ik’porhZ 30 uoEcj ;k mlls igysA 
 

71.  A private bank has not filed its statement of financial transaction or reportable account 

in relation to the specified financial transactions for the financial year 2024-25. A 

notice was issued by the prescribed income-tax authority on 1st October, 2024 

requiring the bank to furnish the statement by 31st October, 2024. The bank, however, 

furnished the statement only on 15th November, 2024. What would be the penalty 

leviable under section 271FA? 

 

a) Rs. 91,500 

b) Rs. 13,600 

c) Rs. 16,800 

d) Rs. 22,800 

 

,d futh cSad us foRrh; o”kZ 2024&25 ds fy, fofufnZ”V foRRkh; 

ysunsukas ds laca/k esa foRRkh; ysunsu ;k izfros| [kkrs dk fooj.k 

nkf[ky ugha fd;k gSA 01 vDVwcj] 2024 dks fofgr vk;dj 

izkf/kdkjh }kjk ,d uksfVl tkjh fd;k x;k Fkk] ftlesa cSad ls 31 

vDVwcj] 2024 rd fooj.k izLrqr djus dh vis{kk dh xbZ FkhA 

rFkkfi] cSad us fooj.k 15 uoacj] 2024 dks izLrqqr fd;kA /kkjk 

271FA ds v/khu D;k ‘kkfLr mn~x`ghr gksxh\ 
 

a) :- 91]500@& 
b) :- 13]600@& 
c) :- 16]800@& 
d) :- 22]800@& 

 

72.  Mr. Naveen is an employee working in a public sector company. He repaid a loan in 
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cash of ₹ 24,000 (including interest of ₹ 5,000), which he took from his friend for 

higher studies. What will be the consequence of the said transaction for A.Y. 2023-24. 

 

a) Penalty of ₹ 24,000 u/s 271E due to violation of section 269T 

b) Penalty of ₹ 19,000 u/s 271E due to violation of section 269T 

c) No disallowance or penalty u/s 271E, since the principal amount of loan is 

less than ₹ 20,000 

d) None of the above. 

 

Jh uohu ,d lkoZtfud {ks=d daiuh esa dk;Zjr gSA mlus ,d     

:- 24]000@& ds _.k dks ¼:- 5]000 ds C;kt lfgr½ udn esa 

pqdk;k] tks fd mlus mPPkrj f’k{kk ds fy, vius fe= ls fy;k FkkA 

ys[kk o”kZ 2023&24 ds fy, bl ysunsu dk ifj.kke D;k gksxk\ 

 

a) /kkjk 269T ds mYYka?ku ds dkj.k /kkjk 271E dh v/khu       

:- 24]000@& dh ‘kkfLr  
b) /kkjk 269T ds mYYka?ku ds dkj.k /kkjk 271E dh v/khu        

:- 19]000@& dh ‘kkfLr  
c) /kkjk 271E ds v/khu dksbZ ukeatwjh ;k ‘kkfLr ugha] D;kasfd _.k 

dk ewy/ku :- 20]000@& ls de gSA  
d) buesa ls dksbZ ughaA  

  
73.  In the case of Chelapalli Sugars Ltd. v. CIT 98 ITR 167 (SC) the Hon’ble Supreme 

Court held that interest paid before commencement of production on amount borrowed 

for acquisition and installation of plant and machinery can be considered to be part of 

actual cost of assets to assessee, whether for purpose of deduction on account of  

 

a) Depreciation  

b) Development rebate  

c) Both (a) & (b) 

d) Neither (a) nor (b) 

 

psykiYYkh ‘kqXklZ fyfeVsM cuke CIT98 ITR 167(SC) ds ekeys esa 

ekuuh; lokssZPp U;k;ky; us vfHkfu/kkZfjr fd;k fd la;a= rFkk 

e’khujh ds vtZu rFkk laLFkkiu ds fy, m/kkj yh xbZ jkf’k ij] 

mRiknu izkjaHk gksus ls igys Hkqxrku dh xbZ C;kt jkf’k dks fu/kkZfjrh 

dh vkfLr;ksa dh okLrfod ykxr dk Hkkx ekuk tk ldrk gS] pkgs 

og------ ds dkj.k dVkSrh ds mn~ns’; ls pqdk;k x;k gksA 

a) ewY;gzkl 
b) fodklkFkZ fjcsV 
c) (a)  rFkk (b)  nksuksa 
d) Uk rks (a)  u gh (b) 
 

74.  Which of the following statements based on the judgement of Hon’ble Supreme Court 

in the case of Tuticorin Alkali Chemicals v. CIT  227 ITR 172 (SC) are correct;  
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1. Interest earned on short-term investment of funds borrowed for setting-up of 

factory during construction of factory before commencement of business has 

to be assessed as income from other sources 

2. It cannot be said that interest income is not taxable on ground that it would go 

to reduce interest on borrowed amount which would be capitalised. 

3. Interest income earned on short-term deposit of funds before commencement 

of business during setting-up of factory could be set off against loss of the 

company.  

 

a) 1 & 2 

b) 1 & 3 

c) 2 & 3 

d) 1, 2 & 3 

 

rwrhdksfju vydyh dsfedYl cuke CIT 227 ITR 172(SC)      ds 

ekeys esa ekuuh; loksZPp U;k;ky; ds fu.kZ; ds vk/kkj ij 

fuEufyf[kr esa ls dkSu ls dFku lgh gS% 

1- O;kikj ds izkjaHk gksus ls igys QSDVjh fuekZ.k ds nkSjku QSDVjh 
LFkkfir djus ds fy, m/kkj yh xbZ fuf/k ds vYidkfyd 

fuos’k ij vftZr C;kt dks vU; lzksrksa ls vk; ds :Ik esa 

fu/kkZj.k fd;k tk,A 

2- C;kt vk; dj;ksX; ugha gS ;g bl vk/kkj ij ugha dgk tk 
ldrk fd ;g m/kkj yh xbZ ml jkf’k ij C;kt dks de dj 

nsxh] tks iwathd`r gks tk,xhA 

3- QSDVjh dh LFkkiuk ds nkSjku O;olk; ds vkjaHk ls igys fuf/k 
ds vYidkfyd tek ij vftZr C;kt vk; dks daiuh dh gkfu 

ds izfr lek;ksftr fd;k tk ldsxkA 

 

a) 1 rFkk 2 
b) 1 rFkk 3 
c) 2 rFkk 3 
d) 1] 2 rFkk 3 

 

75.  Which of the below statements based on the ratio laid down by Hon’ble Supreme 

Court in the case of McDowell & Co. Ltd. v. CTO 154 ITR 148 (SC) are correct 

1.  Excise duty which was payable by appellant but had been paid by buyer was 

actually a part of turnover of appellant and was, therefore, liable to be so 

included for determining liability to sales tax.  

2.  It is open to everyone to so arrange his affairs as to reduce burden of 

taxation to minimum and such a process does not constitute tax evasion. 

 

a) Only 1  

b) Only 2 

c) Both 1 & 2 

d) Neither 1 nor 2 
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McDowell ,aM daiuh fyfeVsM cuke CTO 154 ITR 148(SC) ds ekeys esa 

ekuuh; loksZPPk U;k;ky; }kjk vf/kdfFkr vuqikr ds vk/kkj ij 

fuEu esa ls dkSu ls dFku lgh gS% 

1- mRikn ‘kqYd] tks fd vihydrkZ }kjk ns; Fkk ysfdu mldk 
Hkqxrku [kjhnkj }kjk fd;k x;k] okLro esa vihydrkZ ds 

VuZvksoj dk Hkkx Fkk rFkk blfy, fcØh dj dh nsunkjh ds 

fu/kkZj.k ds fy, ‘kkfey fd, tkus ds fy, Hkkxh gksxkA 

2- ;g fodYi lHkh ds fy, miyC/k gS fd mlds ekeyksa dks 
dkjk/kku ds Hkkj dks U;wure djus ds fy, O;ofLFkr djs rFkk 

bl izdkj dh izfØ;k dj vioapu ugha gksrh gSA 

 

a) dsoy 1 
b) dsoy 2 
c) 1 rFkk 2 nksuksa 
d) Uk rks 1 u gh 2 

 
76.  Which of the below statements based on the ratio laid down by Hon’ble Supreme 

Court in the case of CIT v. Trilok Nath Mehrotra 231 ITR 278 (SC) are correct 

1.  Where a member of HUF joins a partnership firm and gets salary for 

managing it or rendering services, the salary will be his individual income. 

2.  Where his salary is part of return of investment made by HUF in partnership 

firm then salary will be added to income of HUF. 

 

a) Only 1  

b) Only 2 

c) Both 1 & 2 

d) Neither 1 nor 2 

 

CIT cuke f=yksdukFk esgjks=k 231 ITR 278(SC) ds ekeys esa ekuuh; 

loksZPPk U;k;ky; }kjk vf/kdfFkr vuqikr ds vk/kkj ij fuEu esa ls 

dkSu ls dFku lgh gS% 

 

1- tgkWa HUF dk ,d lnL; ,d Hkkxhnkjh QeZ eas lfEEkfyr gksrk 
gS rFkk mldk izca/ku djus ;k lsok,Wa iznku djus ds fy, 

osru izkIRk djrk gS rks ;g osru mldh O;fDrxr vk; gksxhA 

2- tc mldk osru Hkkxhnkjh QeZ esa HUF }kjk fd, x, fuos’k 

ij izfrykHk dk fgLLkk gSa] rks osru HUF dh vk; eas tksM+ 

fn;k tk,xkA 

 

a) dsoy 1 
b) dsoy 2 
c) 1 rFkk 2 nksuksa 
d) Uk rks 1 u gh 2 
 

77.  CIT v. Anand Theatres (244 ITR 192 SC) was concerned with the rate of depreciation 
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on cinema hall and hotel buildings. What did the Supreme Court decide about such 

buildings? 

a) They should be treated as “plant” since they are used for business, and allowed 

accelerated depreciation. 

b) No depreciation is allowable on buildings used for commercial purposes. 

c) They are to be treated as buildings (not as “plant”) for depreciation purposes, 

meaning they do not get the higher depreciation rate applicable to plant and 

machinery. 

d) Full depreciation can be claimed in the first year for such assets. 

CIT cuke vkaun fFk;sVlZ (244 ITR 192SC) dk ljksdkj flusek gkWy 

rFkk gksVy fcfYMaxkas ij ewY;gzkl dh nj ls ls FkkA ,ssls Hkouksa ds 

laca/k esa loksZPPk U;k;ky; us D;k r; fd;kA 

a) pwafd os O;kikj ds fy, iz;ksx esa yk, tkrs gSa] blfy, mUgsa 

^^la;a=** le>k tk, rFkk Rofjr ewY;gzkl dh vuqefr nhA 
b) O;kikfjd mn~ns’;ksa ds fy, iz;ksx fd, tkus okys Hkouksa ij 

fdlh ewY;gzkl dh vuqefr ugha gSA 
c) ewY;gzkl mn~ns’;ksa ds fy, mUgsa Hkou le>k tk, ¼^la;a=* ugha½ 

vFkkZr mu ij la;a= rFkk e’khujh ij ykxw mPPkrj ewY;gzkl 

nj ugha ykxw gksxhA 
d) ,slh vkfLr;ksa ds fy, igys lky esa gh iw.kZ ewY;gzkl dk nkok 

fd;k tk ldrk gSA  

 
78.  Shambhu Investment (P) Ltd. v. CIT (263 ITR 143 SC) dealt with the classification of 

rental income from a furnished property. What did the Supreme Court rule about such 

rental income (e.g., leasing out a furnished office with amenities)? 

a) The taxpayer can choose to treat it as business income or house property 

income each year. 

b) It is taxable as Business Income, since services and amenities are provided. 

c) It is taxable as Income from House Property, since the essence of the income is 

from property ownership. 

d) It should be split between house property income and service income. 

‘kaHkq buosLVesaV (P)Ltd. cuke CIT (263 ITR 143 SC) esa fdlh lqlfTtr 

laifÙk ls fdjk;k vk; dk oxhZdj.k fd;k x;kA ,slh fdjk;k vk; 

ds laca/k esa loksZPPk U;k;ky; us D;k fu.kZ; fn;k ¼mnkgj.kkFkZ fdlh 

lqlfTtr dk;kZy; dks iV~Vs ij nsuk½ 

 

a) djnkrk gj o”kZ bls ^O;kikj vk;* ;k ^x`g laifÙk ls vk;* ds 

:Ik esa iz;ksx djus ds fy, pqu ldrk gSA 
b) pwaWfd lsok,Wa rFkk lq[klqfo/kk,Wa iznku dh xbZ gS] vr% ;g 

O;kikj ls gqbZ vk; ds :Ik esa dj;ksX; gSA 
c) pwaWafd vk; ewYkr% laifÙk LokfeRo ls gS] vr% ;g ^x`g laifÙk 



Page 46 of 58 
 

ls vk;* ds :Ik esa dj;ksX; gSA 
d) ;g ^x`g laifÙk ls vk;* rFkk ^lsok ls vk;* ds chp foHkkftr 

dh tkuh pkfg,A 

 
79.  CIT v. P.V.A.L. Kulandagan Chettiar (267 ITR 654 SC) addressed the effect of a 

Double Taxation Avoidance Agreement (DTAA) on certain income. What did the 

Supreme Court decide regarding agricultural income earned in Malaysia by an Indian 

resident under the India-Malaysia DTAA? 

a) Such income is not taxable in India under the DTAA – it is taxable only in 

Malaysia (the source country). 

b) The income is taxable in India under “Income from Other Sources,” but a 

credit for Malaysian tax is given. 

c) It is taxable in India as agricultural income under Indian law. 

d) It is fully exempt in both countries. 

CIT cuke P.V.A.L dqyanxu psfV~V;kj (267 ITR 654SC) ekeyk fdlh 

fuf’pr vk; ij nksgjs djk/kku ifjotZu djkj (DTAA) ds izHkko dks 

lacaf/kr djrk gSA Hkkjr eysf’k;k DTAA ds v/khu fdlh Hkkjrh; 

fuoklh }kjk eysf’k;k esa vftZr dh xbZ d`f”k vk; ds laca/k esa 

loksZPPk U;k;ky; us D;k fu.kZ; fy;kA 

 

a) DTAA ds v/khu ,slh vk; Hkkjr esa dj;ksX; ugha gksxh ;g 
dsoy eysf’k;k ¼lzksr ns’k½ esa dj;ksX; gksxhA 

b) ;g vk; Hkkjr esa ^^vU; lzksrksa ls vk;** ds v/khu dj;ksX; 

gksxh] ysfdu eysf’k;k ds dj dk dszfMV fn;k tk,xkA  
c) ;g Hkkjrh; fof/k ds v/khu d`f”k vk; ds :Ik esa dj;ksX; 

gksxhA 
d) ;g nksuksa ns’kksa esa NwV izkIr gksxhA 

 
80.  The Goetze (India) ruling was limited to the powers of the Assessing Officer. Does it 

prevent higher appellate authorities from considering a deduction or claim that was not 

made in the original return? 

a) No. The Supreme Court in Goetze explicitly noted that its decision does not 

affect the powers of the Income Tax Appellate Tribunal or appellate authorities 

to consider new claims raised before them. 

b) Yes. The same restriction applies at the CIT(A) and ITAT levels as well – no 

new claim can be introduced later. 

c) It is silent on appellate powers, so by default no authority can allow a claim not 

in the return. 

d) It allowed ITAT to consider new claims, but not the first appellate authority 

xksRtsa+ ¼Hkkjr½ fofu.kZ;] fu/kkZj.k vf/kdkjh dh ‘kfDr;ksa rd lhfer 

FkkA D;k ;g mPPkrj vihyh vkf/kdkfj;ksa dks ,slh fdlh dVkSrh ;k 
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nkos ij fopkj djus ls jksdRkk gS] tks fd ewy fooj.kh esa izLrqr 

ugha fd;k x;k Fkk\ 

 

a) Ukgha] xksRtsa+ esa loksZPPk U;k;ky; us ntZ fd;k fd bldk fu.kZ; 

vk;dj vihyh izkf/kdj.k ;k vihyh izkf/kdkfj;ksa ds le{k 

izLrqr u, nkoksa ij fopkj djus dh ‘kkfDr;ksa ij izHkko ugha 

MkyrkA 
b) gkWa] ;gh izfrca/k CIT(A) rFkk ITAT Lrjksa ij Hkh ykxw gksrk gS 

&ckn esa dksbZ Hkh u;k nkok ugha fd;k tk ldrkA 
c) ;g vihyh; ‘kfDr;ksa ij ekSu gS] vr% dksbZ izkf/kkdkjh Lor% 

laKku ls ,sls fdlh nkos dks vuqefr ugha ns ldrk tks 

fooj.kh esa u gksA 
d) ;g ITAT dks u, nkoksa ij fopkj djus dh vuqefr nsrk gS 

ysfdu izFke vihyh vf/kdkjh dks ughaA   

 
81.  What principle regarding the imposition of penalties under Section 271(1)(c) of the 

Income Tax Act, 1961 was reiterated by the Hon’ble Supreme Court in the case of 

JCIT Vs. Saheli Leasing and Industries Ltd. [2010] 324 ITR 0170 (SC)? 

 

1) Penalty cannot be imposed if the assessed income is nil. 

2) Penalty is applicable even if the assessed income is nil, as the term "income" 

includes losses. 

3) Penalty is only applicable if there is a positive income. 

4) Penalty is applicable if the Assessee has concealed the particulars of income 

and / or has furnished inadequate particulars of such income. 

 

a) Both 1 and 4 are correct 

b) Both 2 and 4 are correct 

c) Only 3 is correct 

d) Only 4 is correct 

 

ekuuh; mPPkre U;k;ky; }kjk la;qDr vk;dj vk;qDRk cuke lgsyh 

yhftax baMzlVªht fyfeVsM ¼2010½324 ITR 0170(SC) ds ekeys esa 

vk;dj vf/kfue;] 1961 dh /kkjk 271(1)(c) ds varxZr ‘kkfLr ds 

vf/kjksi.k ds laca/k esa fdl fl)kar dks nksgjk;k x;k gS\ 

1) ;fn fu/kkZfjr vk; ‘kwU; gS rks ‘kkfLRk vf/kjksfir ugha dh tk 

ldrh gSA 
2) ‘kkfLr vf/kjksI; gS pkgs fu/kkZfjr vk; ‘kwU; gks D;ksafd ^^vk;** 

‘kCn esa gkfu;kWa Hkh ‘kkfey gSA 
3) ‘kkfLr dsoy rc vf/kjksI; gS tc vk; ldkjkRed gksA 
4) ‘kkfLr vf/kjksI; gS ;fn fu/kkZfjrh us vk; ds fooj.kksa dk fNiko 

fd;k gS vkSj@;k ,slh vk; dk vi;kZI; fooj.k izLrqr fd;k 

gSA  

 
a) 1 vkSj 4 nksuksa lgh gSA 
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b) 2 vkSj 4 nksuksa lgh gSA 
c) dsoy 3 lgh gSA 
d) dsoy 4 lgh gSA 

 

82.  What primary legal issue/es addressed by the Hon’ble Supreme Court in the CIT vs. 

Trilok Nath Mehroratra 231 ITR 278 (SC) 

 

1) If there is conflict of two decisions of the Supreme Court, the decision of the 

larger bench will prevail 

2) Salary could not be assessed in the hands of the Hindu undivided family as it 

was separately given to the managing partners individually for their services.  

3) Taxability of unexplained investment 

Choose the correct option:- 

 

a) Option 1 & 3 are correct  

b) Option 2 & 3 are correct 

c) Option 1 & 2 are correct 

d) Option 1, 2 & 3 are correct 

 

ekuuh; mPPkre U;k;ky; }kjk vk;dj vk;qDr cuke f=yksd ukFk 

esgjks=k 231 ITR 278(SC) ds ekeys esa fdu ekSfyd fof/kd fcUnqvksa dks 

lacksf/kr fd;k x;k gS\  

1) ;fn mPPkre U;k;ky; ds nks fu.kZ;ksa ds chp fojksf/krk gS rks 

vf/kd lnL;ksa okyh ihB dk fu.kZ; vfHkHkkoh gksxkA 
2) vfoHkkftr fganw dqVqEc ds i{k esa osru dk fu/kkZj.k ugha fd;k 

tk ldrk D;kasfd ;g izca/kdh; lk>snkjh dks mudh lsokvksa ds 

fy, O;f”Vd :Ik ls vyx&vyx iznku dh xbZ FkahA 
3) vLi”V fuos’k dh dj;ksX;rkA 

lgh fodYi pqusa%& 

 

a) fodYi 1 vkSj 3 lgh gSA 

b) fodYi 2 vkSj 3 lgh gSA 

c) fodYi 1 vkSj 2 lgh gSA 

d) fodYi 1]2 vkSj 3 lgh gSA 
 

83.  What was the Hon’ble Supreme Court's stance on tax avoidance in the Mc. Dowell & 

Company Limited vs. Commercial Tax Officer 154 ITR 148 (SC) case?  

1) Tax avoidance is a legitimate practice within the framework of law. 

2) Tax avoidance is a colourable device and cannot be considered honorable. 

3) Tax avoidance is encouraged to minimize tax liability. 

4) Tax avoidance is irrelevant to the turnover calculation. 

 

a) Both 1 and 3 are correct 

b) Both 2 and 4 are correct 
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c) Only 2 is correct 

d) Only 4 is correct 

 

EkSd- MkWosy ,aM daiuh fyfeVsM Ckuke okf.kfT;d dj vf/kdkjh 154 

ITR148(SC) ds ekeys esa ekuuh; mPPkre U;k;ky; dk dj ifjgkj 

ij D;k fopkj Fkk\ 

1- dj ifjgkj] fof/k ds nk;js esa ,d fof/klEer dk;Z gSA 

2- dj ifjgkj ,d Nn~e dk;Z gS vkSj bls lEekuh; ugha ekuk 

tk ldrk A 

3- dj ns;rk dks de djus ds fy, dj ifjgkj dks c<+kok fn;k 

tkrk gSA 

4- vkorZ lax.kuk ds fy, dj ifjgkj vizklafxd gSA 

 

a) 1 vkSj 3 nksuksa lgh gSA 
b) 2 vkSj 4 nksuksa lgh gSA 
c) dsoy 2 lgh gSA 
d) dsoy 4 lgh gSA 

 

84.  It was held by the Hon’ble Supreme Court in the case of U.P. Forest Corporation v. 

DCIT 297 ITR 1 (SC) that government corporations are taxable unless: 

 

a) Engaged in welfare 

b) Exempted by statute 

c) Profits are reinvested 

d) Registered as trusts 

 

;w-ih ou fuxe cuke mi vk;dj vk;qDr 297 ITR 1(SC) ds ekeys 

esa ekuuh; mPPkre U;k;ky; }kjk vfHkfu/kkZfjr fd;k x;k Fkk fd 

ljdkjh fuxe djk/ks; gS] tc rd fd og ------------- 

  

a) dY;k.k dk;ksZa esa lafyIRk u gkssa 
b) fof/k }kjk NwV izkIRk u gksa 
c) ykHkksa dk iqu% fuos’k u djrs gksa 
d) U;klksa ds :Ik esa iathd`r u gksa 

 

85.  Which of the below statements based on the ratio laid down by Hon’ble Supreme 

Court in the case of CIT v. British Paints Ltd 188 ITR 44 (SC) are correct 

1. In the instant case the assessee had valued goods in process and finished 

products exclusively at cost of raw materials.  

2. It was held that the action of Assessing Officer in rejecting assessee's method 

of valuation and in holding that assessee's goods in process and finished 

products were liable to be valued at 100 per cent of cost which included 

overhead expenditure.  

 

a) Only 1  
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b) Only 2 

c) Both 1 & 2 

d) Neither 1 nor 2 

 

vk;dj vk;qDr cuke fcfVª’k isaV~l fyfeVsM 188ITR 44(SC) ds ekeys 

esa ekuuh; mPPkre U;k;ky; }kjk vf/kdfFkr vuqikr ds vk/kkj ij 

fuEufyf[kr dFkuksa esa ls dkSu ls lgh gaS\ 

1- bl ekeys esa fu/kkZfjrh us izfØ;k/khu eky vkSj fofufeZr 

mRiknksa dk ewY;kadu dPPks eky dh ykxr ij fd;k FkkA 

2- ;g ekuk x;k fd fu/kkZj.k vf/kdkjh }kjk fu/kkZfjrh dh 

ewY;kadu iz.kkyh dks vLohdkj djus vkSj fu/kkZfjrh ds 

izfØ;k/khu eky vkSj fofufeZr mRiknksa dk ewY;kadu ykxr ds 

100% ij  fd;k tkuk pkfg, Fkk ftlesa Åijh O;; Hkh ‘kkfey 

gaSA 

 

a) dsoy 1 
b) dsoy 2 
c) 1 vkSj 2 nksuksa 
d) Uk gh 1 vkSj u gh 2 

 

86.  In CIT v. British Paints India Ltd. (188 ITR 44 SC), which inventory valuation 

practice was disapproved by the Supreme Court? 

a) Valuing closing stock solely at current market price instead of cost. 

b) Not including manufacturing overheads in the cost of closing stock, thereby 

understating inventory value. 

c) Switching between FIFO and LIFO methods year by year. 

d) Using the cash accounting method for stock valuation. 

vk;dj vk;qDr cuke fczfV’k isaV~l fyfeVsM (188 ITR 44 SC) esa mPPkre 

U;k;ky; }kjk dkSulh eky&lwph ewY;kadu iz)fr dks vLohdkj fd;k 

x;k Fkk\ 

 

a) vafre LVkWd dk ykxr ds LFkku ij dsoy orZeku cktkj 

dher ij ewY;kadu djukA 
b) vafre LVkWd dh ykxr esa fofuekZ.k Åijh O;; ‘kkfey ugha 

fd;k tkuk] ftlds QyLo:i eky&lwph ewY; dks de vkadk 

tkukA  
c) o”kZ nj o”kZ ,Q-vkbZ-,Q-vks (FIFO) vkSj ,y-vkbZ-,Q-vks (LIFO) 

ds chp cnykoA 
d) LVkWd ds ewY;kadu ds fy, jksdM+ ys[kkdj.k iz.kkyh dk mi;ksx 

djukA 

 

87.  Prior to T.R.F. Ltd. v. CIT, assessees had to establish that a debt had become bad to 

claim a deduction. Which requirement did the Supreme Court do away with in the 
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T.R.F. Ltd. ruling? 

a) The requirement to obtain a certificate from the debtor. 

b) The requirement to prove that the debt is irrecoverable or to take legal action 

for recovery. 

c) The need to wait a specified period before write-off. 

d) The requirement to seek Tax Department approval for writing off debts. 

Vh-vkj-,Q- fyfeVsM cuke vk;dj vk;qDr ekeys ls iwoZ] fu/kkZfjrh 

dks ;g LFkkfir djuk gksrk Fkk fd dVkSrh dk nkok djus ds fy, 

_.k v’kks/; gks x;k gSA mPPkre U;kk;ky; us Vh-vkj-,Q fyfeVsM 

ds ekeys esa fn, x, fofu.kZ; ls fdl vko’;drk dks lekIr 

fd;k\ 

 

a) _.kh ls izek.ki= izkIr djus dh vko’;drk dksA 
b) _.k vizfrlagj.kh; gS] dks fl) djus vkSj olwyh gsrq fof/kd 

dkjZokbZ djus dh vko’;drk dksA 
c) cVV~s [kkrs Mkyus ls iwoZ fdl fofufnZ”V vof/k rd izrh{kk djus 

dh vko’;drk dksA 
d) _.kksa dks cVV~s [kkrs Mkyus ds laca/k esa foHkkx dk vuqeksnu 

izkIRk djus dh vko’;drk dksA 

 
88.  The time limit for passing an order of assessment or reassessment u/s 10 of the Black 

Money Act is ………….in which notice u/s 10(1) is issued by the Assessing Officer.  

 

a) 2 years from the end of month 

b) 3 years from the end of the Financial Year 

c) 2 years from the end of the financial year 

d) None of the above 

 

dkyk /ku vf/kfu;e dh /kkjk 10 ds varxZr fu/kkZj.k ;k iqu% 

fu/kkZj.k dk vkns’k tkjh djus dh le;&lhek fu/kkZj.k vf/kdkjh }kjk 

/kkjk 10¼1½ ds rgr uksfVl tkjh djus ds --------gSA 

 

a) ekg dh lekfIr ls 2 o”kZA 
b) foÙk o”kZ dh lekfIr ls 3 o”kZA 
c) foÙk o”kZ dh lekfIr ls 2 o”kZA 
d) mi;qZDr esa ls dksbZ ughaA 

 

89.  What is the maximum punishment for false statement in any verification under Black 

Money and Imposition of Tax Act, 2015 ? 

 

a) 1 year imprisonment 

b) 3 years imprisonment 

c) 5 years imprisonment 

d) 7 years imprisonment 
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dkyk /ku ,oa dj vf/kjksi.k vf/kfu;e] 2015 ds rgr fdlh Hkh lR;kiu esa 

>wBs c;ku ds fy, vf/kdre ltk D;k gS\ 

a) 1 o”kZ dk dkjkoklA 

b) 3 o”kZ dk dkjkoklA 

c) 5 o”kZ dk dkjkoklA 

d) 7 o”kZ dk dkjkoklA 

90.  In which of the following cases, it is mandatory to file return of income in India? 

1) Ram is resident in India and has earned total income of Rs 2,00,000 during the 

PY 2018-19. However, he has bank account outside India. 

2) Shyam is resident in India and has earned total income of Rs 1,50,000 during 

the PY 2018-19. However, he is the owner of bungalow outside India. 

 

Choose the correct option:- 

 

a) Only 1 is correct 

b) Only 2 is correct 

c) 1 & 2  are correct 

d) None of the above 

 

fuEufyf[kr esa ls fdu ekeyksa esa Hkkjr esa vk; dh fooj.kh nkf[ky 

djuk vfuok;Z gSA 

1) jke Hkkjr esa fuoklh gS vkSj mlus iwoZ o”kZ 2018&19 ds 

nkSjku dqy :- 2]00]000@& dh vk; vftZr dh gSA gkykafd 

mldk cSad [kkrk Hkkjr ds ckgj fLFkr gSA 
2) ‘;ke Hkkjr esa fuoklh gS vkSj mlus iwoZ o”kZ 2018&19 ds 

nkSjku dqy :- 1]50]000@& dh vk; vftZr dh gSA gkykafd 

og Hkkjr ds ckgj fLFkr caxys dk Lokeh gSA 
lgh fodYi pqusa%& 

 

a) dsoy 1 lgh gSA 

b) dsoy 2 lgh gSA 

c) 1 vkSj 2 lgh gSA 

d) mijksDr esa ls dksbZ ughaA 

 
91.  Which of the following assets would be considered as undisclosed asset located 

outside India (i.e., foreign assets)? 

1) Sumit is currently a resident of India. However, he was a non-resident in India 

during PY 2011-12 when he had acquired immovable property outside India 

out of income which was not chargeable to tax in India. 

2) Tom is a non-resident of India. However, he was a resident in India during PY 
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2011-12 when he had acquired immovable property outside India out of his 

undisclosed income chargeable to tax in India 

Choose the correct option:- 

a) Only 1 is correct 

b) Only 2 is correct 

c) 1 & 2  are correct 

d) None of the above 

 

fuEu laifÙk;ksa eas ls fdls Hkkjr ds ckgj fLFkr vizdfVr laifÙk 

¼vFkkZr~ fons’kh laifÙk½ ekuk tk,xk\ 

1) orZeku esa lqfer Hkkjr dk fuoklh gSA gkykafd iwoZ o”kZ 

2011&12 ds nkSjku] tc mlus Hkkjr ds ckgj vpy laifÙk 

ml vk; ls [kjhnh tks Hkkjr esa dj ds fy, izHkk;Z ugha Fkh] 

og Hkkjr esa vfuoklh FkkA 
2) VkWe Hkkjr dk vfuoklh gSSA gkykafd iwoZ o”kZ 2011&12 ds 

nkSjku] tc og Hkkjr esa fuoklh Fkk mlus Hkkjr ds ckgj 

vpy laifÙk viuh ml vizdfVr vk; ls [kjhnh tks Hkkjr esa 

dj ds fy, izHkk;Z gSA 

 
lgh fodYi pqusa%& 

a) dsoy 1 lgh gSA 
b) dsoy 2 lgh gSA 
c) 1 vkSj 2 lgh gSA 
d) mijksDr esa ls dksbZ ugha  

 
92.  What is the minimum punishment for second and subsequent offence under section 49 

to section 53 of Black Money and Imposition of Tax Act, 2015 ? 

 

a) 6 months imprisonment 

b) 9 months imprisonment 

c) 1 year imprisonment 

d) 3 years imprisonment 

 

dkyk /ku ,oa dj vf/kjksi.k vf/kfu;e] 2015 dh /kkjk 49 ls 

/kkjk 53 ds rgr nwljs rFkk r’pkr~orhZ vijk/k ds fy, U;wure n.M 

D;k gS\ 

 

a) 6 eghus dk dkjkoklA 
b) 9 eghus dk dkjkoklA 
c) 1 o”kZ dk dkjkoklA 
d) 3 o”kksZa dk dkjkoklA 

 

93.  The term "benami transaction" refers to: 
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a) A transaction or arrangement where: 

(1) Property is transferred to, or held by, one person while consideration is 

provided or paid by another person; and 

(2) The property is held for the immediate or future benefit, direct or 

indirect, of the person providing such consideration. 

b) A transaction or arrangement where: 

(1) Property is transferred to, or held by, a person, who also provides 

consideration; and 

(2) The property is held for exclusive benefit of a third party. 

c) A transaction or arrangement where: 

(1) Property is purchased and held directly by the person who provides 

consideration; and 

(2) The benefits from such property accrue solely to the holder. 

d) A transaction or arrangement where: 

(1) Property is acquired by the government for public use; and 

(2) Compensation is directly provided to the original property owner. 

 

^csukeh laO;ogkj* ls vfHkizsr gS% 

 

a) dskbZ laO;ogkj ;k O;oLFkk tgkWa%  
(1) laifÙk dk varj.k ,d O;fDr dks ;k ,d O;fDr }kjk fd;k 

tkrk gS tcfd izfrQy fdlh vU; O;fDRk }kjk iznku fd;k 

tk pqdk;k tkrk gS( vkSj  
(2) ,slk izfrQy nssus okys O;fDRk ds] izR;{k ;k vizR;{k rRdky 

;k Hkkoh ykHk ds fy, laifÙk dks j[kk tkrk gSA 
b) dksbZ laO;ogkj ;k O;oLFkk tgkWWa%  

(1) laifÙk dk varj.k ml O;fDr dks ;k mldk /kkj.k ml 

O;fDr }kjk fd;k tkrk gS tks izfrQy Hkh nsrk gS( vkSj  
(2) ,d rhljs i{k ds fof’k”V YkkHk ds fy, laifÙk dks j[kk 

tkrk gSA 
c) dksbZ laO;ogkj ;k O;oLFkk tgkWa%  

(1) laifÙk dks lh/ks ml O;fDr }kjk [kjhnk vkSj j[kk tkrk gS 

tks izfrQy iznku djrk gS( vkSj  
(2) ,slh laifÙk ls ykHk flQZ /kkj.kdrkZ dks izksn~Hkwr gksrk  gSA 

d) dksbZ laO;ogkj ;k O;oLFkk tgkWa%  
(1) lkoZtfud iz;ksx ds fy, ljdkj }kjk laifÙk dks /kkfjr 

fd;k tkrk gS% vkSj  
(2) laifÙk ds okLrfod Lokeh dks izR;{k :Ik ls izfriwfrZ iznRRk 

gksrh gSA 
 

94.  Match the authority with its corresponding power or function under Section 27 Benami 

Transactions (Prohibition) Amendment Act, 2016. 

 

Column A Column B 

A. Adjudicating Authority 1. Executes the order of confiscation 
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B. Administrator 2. Passes order declaring property as benami 

C. Central Government 3. Vests absolutely with the confiscated property 

D. Benamidar 4. Has no right to compensation post confiscation 

 

Options: 

a) A–1, B–2, C–4, D–3 

b) A–3, B–2, C–1, D–4 

c) A–2, B–3, C–4, D–1 

d) A–2, B–1, C–3, D–4 

 

csukeh laO;ogkj ¼fu”ks/k½ la’kks/ku vf/kfu;e 2016 dh /kkjk 27 ds 

rgr izkf/kdkjh dk mudh rnuq:Ik ‘kfDRk@vf/kdkj ;k izdk;Z ls 

feyku djsa & 

 

   dkWye A   dkWye  B 

A U;k;fu.kkZ;d izkf/kdkjh 1 tCrh ds vkns’k fu”ikfnr 

djuk 

B iz’kkld 2 laifÙk dks csukeh ?kksf”kr 

djus ds vkns’k ikfjr 

djukA 

C dsUnzh; ljdkj 3 tCr laifÙk ds lkFk iw.kZr% 

fufgr 

D csukehnkj 4 tCrh mijkar eqvkotk dk 

vf/kdkj ugha gSA 

 

fodYi  

 

a) A-1, B-2, C-4, D-3 

b) A-3, B-2, C-1, D-4 

c) A-2, B-3, C-4, D-1 
d) A-2, B-1, C-3, D-4 

 

95.  Which of the following statements is incorrect as per Section 18 of the Benami 

Transactions (Prohibition) Amendment Act, 2016? 

 

a) The Initiating Officer, Approving Authority, Administrator, and Adjudicating 

Authority are statutory functionaries under the Act 

b) These authorities may exercise powers not mentioned in the Act as long as they 

act in good faith 

c) Functions and powers of these authorities must be in accordance with the Act 

or prescribed rules 

d) The Adjudicating Authority is one among the designated authorities under this 

section 

 

csukeh laO;ogkj ¼fu”ks/k½ la’kks/ku vf/kfu;e 2016 dh /kkjk 18 ds 

mailto:vf/kgj.k@tCrh
mailto:vf/kgj.k@tCr
mailto:vf/kgj.k@tCrh
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vuqlkj fuEu esa ls dkSu ls dFku xyr gSa& 

 

a) izkjafHkd vf/kdkjh] vuqeksnu vf/kdkjh iz’kkld vkSj 

U;k;fu.kkZ;d izkf/kdkjh vf/kfu;e ds rgr lkafof/kd in/kkjh 

gSA 
b) ;s izkf/kdkjh] tc rd lfnPNkiwoZd dk;Z djsaxs] rc rd os mu 

‘kkfDRk;ksa dk iz;ksx dj ldrs gSa] tks bl vf/kfu;e esa 

mfYYkf[kr ugha gSA 
c) bu izkf/kdkfj;ksa ds dk;Z vkSj ‘kkfDr;kWa vf/kfu;e vkSj fu/kkZfjr 

fu;eksa ds vuqlkj gksuh pkfg,A 
d) bl /kkjk ds rgr U;k;fu.kkZ;d izkf/kdkjh vfHkfgr izkf/kdkfj;ksa 

esa ls ,d gSA 
 

96.  The Initiating Officer receives credible documents indicating that Mr. R holds a luxury 

apartment purchased by Mr. M, who has not disclosed it in his income-tax filings. 

After recording his reasons, the officer issues a notice under Section 24(1) of the 

Benami Transactions (Prohibition) Amendment Act, 2016. However, there is credible 

threat that Mr. R may transfer the property to a third party. What must the Initiating 

Officer do? 

 

a) Wait for the show cause reply before acting further 

b) Refer the matter to the Adjudicating Authority immediately 

c) Provisionally attach the property with prior approval of the Approving 

Authority under Section 24(3) 

d) Issue summons to the Registrar of Property to block the transaction 

 

izkjafHkd vf/kdkjh dks fo’oluh; nLrkost izkIRk gq, tks funf’kZr 

djrs gS fd Jh- vkj ds ikl ,d yXt+jh vikVZesaV gS ftls Jh ,e 

us [kjhnk gS] vkSj Jh ,e us bls viuh vk;dj QkbZfyax esa ugh 

fn[kk;k gSA dkj.kksa dks fjdkMZ djus ds ckn vf/kdkjh us csukeh 

laO;ogkj ¼fu”ks/k½ la’kks/ku vf/kfu;e 2016 dh /kkjk 24¼1½ ds 

rgr ,d uksfVl tkjh fd;kA tcfd ;g fo’oluh; vka’kdk gS fd 

Jh vkj laifÙk dks ,d ijO;fDRk dks varfjr dj ldrs gaSA izkjafHkd 

vf/kdkjh dks D;k djuk pkfg,\ 

 

a) vkxkeh dkjZokbZ ls igys dkj.k crkvks uksfVl ds mRRkj dh 

izrh{kk djsaA 
b) ekeys dks rqajr U;k;fu.kkZ;d izkf/kdkjh dks fopkjkFkZ Hksat nsA 
c) /kkjk 24¼3½ ds rgr vuqeksnu izkf/kdkjh ds iwoZ vuqeksnu ls 

laifÙk dks vLFkk;h :Ik ls dqdhZ djsaA 
d) varj.k dks jksdus ds fy, laifÙk jftLVªkj dks lEku tkjh djasA 

 

97.  Which of the following best characterizes the legal effect of confiscation as compared 

to attachment as per the Benami Transactions (Prohibition) Amendment Act, 2016? 
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a) Confiscation is temporary; attachment is permanent 

b) Confiscation creates a lien; attachment transfers title 

c) Confiscation results in absolute vesting of title in the Central Government free 

of encumbrances 

d) Attachment is used for sale, confiscation for mortgage 

 

fuEu esa ls dkSu lk fodYi vf/kxzg.k dh rqyuk esa csukeh 

laO;ogkj ¼fu”ks/k½ la’kks/ku vf/kfu;e] 2016 ds vuqlkj dqdhZ  ds 

oS/kkfud izHkko dks loZJs”B :i ls ifjyf{kr djrk gS\ 

 

a) vf/kxzg.k vLFkk;h gS] dqdhZ LFkk;h gSA 
b) vf/kxzg.k /kkj.kkf/kdkj mRiUUk djrk gS dqdhZ gd dk gLrkarj.k 

djrh gSSA 
c) vf/kxzg.k] foYyaxe ls eqDr dsanz ljdkj esa gdnkjh ds iw.kZ 

fufgfrdj.k dks mRiUUk djrk gSA 
d) dqdhZ dk iz;ksx foØ; ds fy, fd;k tkrk gS] vf/kxzg.k dk 

ca/kd ds fy,A 
 

98.  Compute the gross income of Mr. Y applying the rules of set off of loss. In AY 2024-

25. Mr. Y has the following income and losses: (1) Loss from business ‘a’  :              

Rs. 10,00,000 (2) Profit from business ‘b’: Rs.2,00,000 (3) Salary income 15,00,000 

a) Gross income Rs.15,00,000 and Carried forward Business loss Rs.8,00,000   

b) Gross income Rs.7,00,000 

c) Gross income of Rs.17,00,000 and  carried forward loss of Rs.10,00,000 

d) Gross income Rs.27,00,000 

gkfu ds lek;kstu ds fu;eksa dks ykxw djrs gq, Jh Y dh ldy 

vk; dh x.kuk djasA fu/kkZj.k o”kZ 2022&23 esa Jh Y  dh fuEu 
vk; ,oa gkfu;kWa gS % ¼1½ O;kikj ‘a’ ls gkfu%  :- 10]00]000@&  

¼2½ O;kikj ‘b’ ls ykHk%  :- 2]00]000@&  ¼3½ osru vk;%      

:- 15]00]000@&   

 

a) ldy vk; :- 15]00]000@& vkSj vxzuhr O;kikj gkfu     

:- 8]00]000@& 
b) ldy vk; :- 7]00]000@& 
c) ldy vk; :- 17]00]000@& vkSj vxzuhr gkfu                         

:- 10]00]000@& 
d) ldy vk; :- 27]00]000@& 

 

99.  In respect of the deduction provided in section 80JJAA of Income Tax, on 

employment of new employees, which of the following are correct? 

(1) Deduction of 30% of additional employee cost is allowable. 

(2) Deduction of 50% of additional employee cost is allowable. 

(3) Deduction is allowable for three assessment years including the assessment 

year relevant to the previous year in which such additional employment is provided. 
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(4) Deduction of allowable for five assessment years  including the  assessment 

year relevant to the previous year in which such additional employment is provided. 

 

a) Options (1) and (3) are correct 

b) Options (1) and (4) are correct 

c) Options (2) and (3) are correct 

d) Options (2) and (4)  are correct. 

 

vk;dj dh /kkjk 80JJAA esa nh xbZ dVkSRkh ds laca/k esa u;s 

deZpkfj;ksa dh HkrhZ ij fuEu esa ls D;k lgh gS\ 

1- vfrfjDr deZpkjh ykxr dh 30% dh dVkSrh Lohdk;Z gSA  
2- vfrfjDr deZpkjh ykxr dh 50% dh dVkSrh Lohdk;Z gSA 
3- iwoZ o”kZ ftlesa ,slk vfrfjDr jkstxkj fn;k tkrk gS ls lacaf/kr 

fu/kkZj.k o”kZ dks ‘kkfey djrs gq, rhu fu/kkZj.k o”kksZa ds fy, 

dVkSrh Lohdk;Z gSA  

4- iwoZ o”kZ ls lacaf/kr fu/kkZj.k o”kZ] ftlesa ,slk vfrfjDr jkstxkj 
fn;k tkrk gS dks ‘kkfey djrs gq, ikap fu/kkZj.k o”kksZa ds fy, 

dVkSrh Lohdk;Z gSA 

 

a) fodYi (1) o (3) lgh gaS 
b) fodYi (1) o (4) lgh gaS 
c) fodYi (2) o (3) lgh gaS 
d) fodYi (2) o (4) lgh gSa 

 
100.  U/s 144BA of the Act relates to :-  

 

a) Reference to Principal Commissioner of Income Tax can be made in respect of 

Chapter X-A of the Act  

b) Reference to the Joint commissioner of Income tax  

c) Reference to Director General of Income Tax can be made  

d) Reference to DVO can be made  

 

vf/kfu;e dh /kkjk 144BA fdlds lacaf/kr gS\ 
 

a) vf/kfu;e ds v/;k; X-A ds ifjizs{; esa iz/kku vk;dj vk;qDr 

dks lanHkZ fd;k tk ldrk gSA 
b) la;qDr vk;dj vk;qDr dks funsZ’kA 
c) vk;dj egkfuns’kd dks funsZ’k fd;k tk ldrk gSA 
d) Mh-oh-vks- dks lanHkZ fn;k tk ldrk gSA 

 

 
***** 


